HPPLICATION GUIDE

LUORDNUNGSLISTE
LISTE D"AFFECTATIONS




WICHTIGER HINWEIS / IMPORTANT NOTICE / INDICATION IMPORTANTE

NJ [
<

The applications in this list are only recommendations that are given to the best of our knowledge. McGard assumes no responsibility for the accuracy
of the application contained within this printed literature. The information listed by McGard is only a guide. McGard assumes no responsibility for
misapplication or misuse of the information contained within this printed literature. It is the installer’s ultimate responsibility to verify that the McGard
part is the correct fastener style, thread size, length and seating surface (cone, radius or flat seat) as the original fastener fitted to the vehicle. McGard
reserves the right to make changes in specification and design without any prior notice or incurring responsibility.

DEUTSCH .

Bei den Zuordnungen in dieser Liste handelt es sich lediglich um Empfehlungen, welche nach bestem Wissen erstellt wurden. McGard tibernimmt keine
Verantwortung fiir den korrekten Einsatz (Gebrauch) der in dieser Broschiire gegebenen Hinweise. Die von McGard empfohlene Anwendung ist
lediglich als Hinweis zu verstehen. McGard kann nicht fiir unsachgemaRe und fehlerhafte Anwendungen verantwortlich gemacht werden. Wir
empfehlen daher dem Benutzer, vor der Montage der Radsicherung, diese mit den Originalbolzen oder -muttern zu vergleichen und auf Gewinde,
Gesamtlange, Schaftlange und Form des Sitzes (Kegel-, Kugel- oder Flachbund) zu tGberprifen. McGard behilt sich das Recht vor, Spezifikationen und
Design ohne vorherige Ankiindigung zu andern.

FRANCAIS ‘ '

Les affectations dans cette liste ne sont que des conseils que nous donnons consciemment. McGard ne prend aucune responsabilité sur I'application

ENGLISH

correcte des instructions données dans cette brochure. L'utilisation conseillée par McGard ne peut étre considérée qu'a titre indicatif. McGard ne peut
étre rendu responsable de mauvaises manipulations inadaptées. Nous conseillons donc a Il'utilisateur de vérifier avant I'achat le filetage, la longueur
totale, la longueur de la tige et la forme du siége (sphérique, conique, plat) de la vis d'origine. McGard se réserve le droit de changer les spécifications
et le design sans préauvis.



INHALT / CONTENTS / TABLE DES MATIERES

A
ENGLISH <
User Manual.......ccccoviieeeeiieccieeeee e 2
Measurements
o  Wheel lock bolts........cceeeveiiieiiiiiieeeeeee, 6-8
e Wheel lock NUES.....ccvvvveeiieiieiieeeec e, 9
e Wheel Installation Kits ..........cccceeeuneene. 10-11
DEUTSCH .
GebrauchSanWeISUNG......c..eeeveeeieviiveeeeeeeeeeeeeeeireeeen, 3
Mallisten
e Radsicherungsbolzen .......ccccccceevviiieennnnnns 6-8
e Radsicherungsmuttern........ccccoveeeeeeeeccnnnn, 9
e Radmontagesatze .........cccceeeeeeeieeeieennn, 10-11

rrancais{ )

Mode d’emploi....cccuvveeiieiiiiciiieeiec e 4
Dimension
e Boulons antivol ......ccccccceveiicieieiiiieee e, 6-8
®  ECrous antiVol.......cecceeeeueiveeeeiieeeee e 9
e Kit de montage de roue ......ccccceeeerunenn. 10-11

APPLICATION GUIDE / ZUORDNUNGSLISTE / LISTE D‘AFFECTATIONS

Alfa ROmeo .....cccccceeuuunneeee. 12 LEXUS wvvvviraenannns 28
Aston Martin........ccceeeeennnn. 12 Maserati......ccccccvvvuiceennnnnn. 28
JANE o | I 12-13 Mazda .....cocoviieeeeeeeee 29
BMW ..oooiiiiiiieeeeeeee 13-14 Mercedes.......ccccveeennee. 29-31
Cadillac.....uveeeeeeeennnnneee, 14-15 MiNicceee e, 31-32
Chevrolet ...........uuu..... 15-16 Mitsubishi .................... 32-33
Chrysler.....ccovvveiiniiieeennns 16 Nissan......coccevveeeerrinnns 33-35
Citron ...eeeeeeeeeveeeeeeeenne. 16-17 Opel/Vauxhall............... 35-36
Dacia.....ccceevvvvivvineennnn. 17-18 Peugeot.....cccccvvvunnnnnn... 36-37
Daihatsu......cccceeevvveeeeneen. 18 Porsche .....ccccceecvveeecnnnenn. 38
Dodge ...ovvvevrieiiiiieens 18-19 Renault......ccccceevivveenns 38-40
Fiat e, 19-20 Seat v 40
Ford....ooovenviieeiciieeens 20-22 Skoda ....eveeeeiiieeeieenn, 40-41
Honda .....cocecvviveeeenens 22-23 Y 19F- | SRR 41
Hyundai..........cccoeeennnn. 23-24 Ssang YoNg.....uvvevveevevevenenn. 41
Infiniti....ocooeieeiiiiees 24-25 Subaru.....ccceeeeeeeennneen, 41-42
Jaguar......ccovvviviieieiiins 25 SUZUKi . cevveeeeiiieeeeiaen 42-43
JEEP i, 25 Tesla e, 43
(T 26-27 Toyota...oeeveevvevrnnnnnn. 43-44
LanCia...ccceeeceeeeeeieeeeeee, 27 VOoIVO ..o 44-45
Land Rover................... 27-28 VW e, 45-47
Customer Service / Installation INStrUCTION.......c.covoiiivecee e 48-50
Kundenservice / Montagean|@itUNG.........cveiveivveeeecececrececeeeeneeeeee e e esessenenns 51-53
Service Clientele / Notice de MONTAZE.......cueivveeeeveere ettt e eaaens 54-56



NS [
ENGLISH i USER MANUAL
7 3

HOW TO FIND THE MCGARD WHEEL LOCKS THAT FIT YOUR VEHICLE

1. Look for the manufacturer and model of your vehicle in the application guide. If you have a vehicle with Original Equipment (OE) wheels, please go

III

to the column “OE alloy” (for alloy wheels) or “Steel wheel” (for steel wheels).

If you have a vehicle with Aftermarket wheels, please look for your wheel brand in the particular columns.

Important:

In case there is more than one part number in an application cell, please compare the shaft length of the original bolt with the shaft length of
the locking wheel bolt. If it is a wheel nut, please compare the total length of the original nut with the total length of the locking wheel nut.
Furthermore please also compare the seating surface of the original fastener with the seating surface of the wheel lock (cone seat, radius seat or
flat seat).

2. If you cannot find your vehicle or rim in the application guide, please have a look at page 6 - 8 “wheel lock bolts” or page 9 “wheel lock nuts”.
Remove an original fastener from your vehicle. If it is a bolt, determine the thread size, the seat, the shaft length/total length and the hex key size.

Please choose the matching wheel lock for your vehicle from the list. If it is a nut, determine the thread size, the seat, the shaft length/total length,
the shaft diameter (if necessary) and the hex key size.

3. Use our online wheel lock configurator on our homepage www.mcgard.de

IMPORTANT: BEFORE INSTALLING THE WHEEL LOCK, PLEASE ALWAYS COMPARE WITH THE ORIGINAL FASTENER!



DEUTSCH . GEBRAUCHSANWEISUNG

SO FINDEN SIE IHRE MCGARD RADSICHERUNGEN

1. Suchen Sie in der Zuordnungsliste nach dem Hersteller und Modell Ihres Fahrzeugs. Wenn Sie Originalfelgen des Fahrzeugherstellers verwenden,
entnehmen Sie bitte die passende McGard Artikelnummer aus den Spalten ,Serie Alu“ (fir Leichtmetallfelgen). bzw. ,Serie Stahl” (fur Stahlfelgen).
Sollten Sie Nachriistfelgen fir Ihr Fahrzeug verwenden, schauen Sie bitte nach dem jeweiligen Felgenhersteller.

Hinweis: Befinden sich in einer Zuordnungsspalte mehrere Artikelnummern, vergleichen Sie bitte die Schaftlange des Originalbolzens mit dem
der Radsicherung und die Gesamtlange der Originalmutter mit der der Radsicherung. Vergleichen Sie bitte ebenfalls den Sitz der

Originalbefestigung mit dem der Radsicherung (Kegel, Kugel, Flach).

2. Sie finden lhr Fahrzeug bzw. lhre Felge nicht in der Zuordnung? Schlagen Sie bitte die Seite 6 — 8 "Radsicherungsbolzen" oder die Seite 9
"Radsicherungsmuttern" auf.

Entfernen Sie eine Originalbefestigung von lhrem Fahrzeug. Ist es ein Radbolzen, bestimmen Sie bitte das Gewinde, den Sitz, die
Schaftlange/Gesamtldange und die Schliisselweite. Handelt es sich um eine Radmutter, bestimmen Sie bitte das Gewinde, den Sitz, die Gesamtlange,
den Schaftdurchmesser (nur bei Flachsitz) und die Schlisselweite.

Vergleichen Sie bitte die Abmessungen der Original Radschraube/-mutter mit den von uns auf Seite 6 — 9 gelisteten Teilenummern.

3. Benutzen Sie unseren Online Radsicherungskonfigurator auf unserer Homepage www.mcgard.de

WICHTIG: VOR MONTAGE DER RADSICHERUNG VERGLEICHEN SIE DIESE MIT DEN MAREN DER ORIGINALBEFESTIGUNG!



FRANCAIS' ' MODE D’EMPLOI

COMMENT TROUVER VOTRE PROTECTION DE ROUE

1. Allez chercher le fabricant et le modele de votre voiture dans notre liste d’application. Si vous avez un véhicule avec jantes d’origine, veuillez
chercher le numéro d’article McGard dans la colonne «jantes alu» (pour les jantes alu) ou dans la colonne «jantes d’acier» (pour les jantes d’acier).
Si vous avez des jantes « de seconde monte », veuillez chercher le fabricant de jantes qui correspond.

Important: S’il y a plusieurs références dans une cellule, veuillez comparer la longueur de filetage de boulon d’origine avec la longueur de
filetage de boulon antivol. Si c’est un écrou, veuillez comparer la longueur totale. Veuillez aussi vérifier le siege de boulon / d’écrou d’origine
avec le siege de boulon / d’écrou antivol (conique, sphérique, plat).

2. Sivous ne trouvez dans la liste d'affectations, ni votre véhicule, ni votre jante en alliage léger, veuillez ouvrir la liste d‘applications a la page 6 — 8,
"boulons antivol" ou a la page 9 "écrous antivol". Retirez une fixation d’origine de votre véhicule. S'il s'agit d'une vis, déterminez le filetage, le siege,
la longueur de la tige/la longueur totale et I'ouverture de clé. Cherchez sur la liste des dimensions le dispositif antivol correspondant a votre
véhicule. S'il s'agit d'un écrou, déterminez le filetage, le siege, la longueur de la tige/la longueur totale, le diameétre de la tige (si nécessaire) ainsi
gue l'ouverture de clé.

3. Utilisez le configurateur online sur notre site Internet www.mcgard.de.

IMPORTANT: N'OUBLIEZ JAMAIS DE COMPARER L'ECROU ANTIVOL AVEC LA FIXATION D'ORIGINE AVANT DE COMMENCER TOUT MONTAGE!







WHEEL LOCK BOLTS / RADSICHERUNGSBOLZEN / BOULONS ANTIVOL

Part Number Thread Seat Shaft length Hex size Image Versions available
Artikelnummer Gewinde Sitz Schaftldénge Schliisselweite Abbildung Ausfiihrungen
N°d’article Filetage Siege Longueur de la tige Ouverture de clé Figure Versions disponibles

26002 M12x1.25 flach/flat/plat 34.5 mm 17 mm C SuU SL SUB
26001 M12x1.25 flach/flat/plat 34.5 mm 19 mm C SuU SL SUB
26000 M12x1.25 flach/flat/plat 42.2 mm 19 mm C SuU
26003 M12x1.5 flach/flat/plat 32.3 mm 17 mm C SuU
27216 M12x1.25 60° 22.0 mm 17 mm B SuU SL SUB
27170 M12x1.25 60° 22.0 mm 19 mm B SU SL SUB
27261 M12x1.25 60° 25.6 mm 19 mm B SU SL SUB
27215 M12x1.25 60° 29.2 mm 17 mm B SU SL SUB
27169 M12x1.25 60° 29.2 mm 19 mm B SU SL SUB
27185 M12x1.25 60° 35.6 mm 19 mm B SU SL SUB
27232 M12x1.25 60° 40.6 mm 17 mm B SuU SL SUB
27180 M12x1.25 60° 47.8 mm 19 mm B SU SL SUB
27204 M12x1.5 60° 22.1 mm 17 mm B SU SL SUB
27179 M12x1.5 60° 25.5 mm 17 mm B SU SL SUB
27207 M12x1.5 60° 25.5 mm 19 mm B SU SL SUB
27221 M12x1.5 60° 27.9 mm 17 mm B SuU SUB
27015 M12x1.5 60° 31.8 mm 17 mm B SuU SL SUB
27112 M12x1.5 60° 36.3 mm 17 mm B SuU SUB
27111 M12x1.5 60° 36.3 mm 21 mm B SuU
27013 M12x1.5 60° 40.4 mm 17 mm B SU SL SUB
27252 M12x1.5 60° 45.0 mm 17 mm B SuU SUB
27014 M12x1.5 60° 49.2 mm 17 mm B SuU

*Image/Abbildung/Figure

A

o o]

a.) Schaftlinge / Shaft length / Longueur de la tige

6

Further applications available on demand!
Weitere Abmessungen auf Anfrage erhaltlich!
D’autres dimensions disponibles sur demande!




WHEEL LOCK BOLTS / RADSICHERUNGSBOLZEN / BOULONS ANTIVOL

Part Number Thread Seat Shaft length Hex size Image Versions available
Artikelnummer Gewinde Sitz Schaftldénge Schliisselweite Abbildung Ausfiihrungen
N°d’article Filetage Siege Longueur de la tige Ouverture de clé Figure Versions disponibles

27226 M14x1.25 60° 27.3 mm 17 mm B SU SL SUB
27229 M14x1.25 60° 32.0 mm 17 mm B SU SL SUB
27230 M14x1.25 60° 37.0 mm 17 mm B SU SL SUB
27244 M14x1.25 60° 42.0 mm 17 mm B SU SL SUB
27231 M14x1.25 60° 47.0 mm 17 mm B SU SL SUB
27184 M14x1.5 60° 24.0 mm 17 mm B SU SL SUB
27222 M14x1.5 60° 27.3 mm 17 mm B SU SL SUB
27181 M14x1.5 60° 29.0 mm 17 mm B SU SL SUB
27205 M14x1.5 60° 31.0 mm 17 mm B SU SL SUB
27000 M14x1.5 60° 31.0 mm 19 mm B SuU SL SUB
27183 M14x1.5 60° 39.0 mm 17 mm B SU SUB
27209 M14x1.5 60° 44.0 mm 17 mm B SU SUB
27208 M14x1.5 60° 49.0 mm 17 mm B SuU SUB
28176 M12x1.5 R12 20.6 mm 17 mm A SU SUB
28175 M12x1.5 R13 23.3 mm 17 mm A SU
28028 M12x1.5 R12 24.1 mm 17 mm A SU SL SUB
28172 M12x1.5 R12 27.9 mm 17 mm A SU SUB
28026 M12x1.5 R12 36.0 mm 17 mm A SU SUB
28023 M12x1.5 R12 39.9 mm 17 mm A SuU SL SUB
28037 M12x1.5 R12 44.5 mm 17 mm A SU SUB

*Image/Abbildung/Figure
A B

) _ Further applications available on demand!
a.) Schaftlinge / Shaft length / Longueur de la tige Weitere Abmessungen auf Anfrage erhiltlich!

D’autres dimensions disponibles sur demande!




WHEEL LOCK BOLTS / RADSICHERUNGSBOLZEN / BOULONS ANTIVOL

Part Number Thread Seat Shaft length Hex size Image Versions available
Artikelnummer Gewinde Sitz Schaftlénge Schliisselweite Abbildung Ausfiihrungen
N°d’article Filetage Siege Longueur de la tige Ouverture de clé Figure Versions disponibles
28038 M12x1.5 R12 49.5 mm 17 mm A SU SUB
28027 M12x1.5 R12 56.0 mm 17 mm A SU SUB
28018 M14x1.5 R13 26.7 mm 17 mm A SsuU SL | SuB
28174 M14x1.5 R14 27.0 mm 17 mm A suU SL | SuB
28177 M14x1.5 R14 28.3 mm 19 mm A suU SUB
28020 M14x1.5 R12 31.8 mm 17 mm A SuU SUB
28032 M14x1.5 R12 34.5 mm 17 mm A SuU SL | SuB
28044 M14x1.5 R14 37.1 mm 19 mm A SsuU SL | SuB
28025 M14x1.5 R12 41.0 mm 17 mm A SuU SuUB
28017 M14x1.5 R14 45.0 mm 17 mm A SsuU SL | SuB
28042 M14x1.5 R12 48.9 mm 17 mm A SuU SuUB
28043 M14x1.5 R12 53.9 mm 17 mm A SsuU SuB
PCD’s/ Versatzradsicherungen/ Ecrous pour la réduction du cercle de trous de jantes

27562 M12x1.25 60° 30.0 mm 17 mm D SuU SL
27563 M12x1.5 60° 30.0 mm 17 mm D SuU SL
27564 M14x1.5 60° 30.0 mm 17 mm D SuU SL

*Image/Abbildung/Figure

A B C
Further applications available on demand!
T T EY a.) Schaftldnge / Shaft length / Weitere Abmessungen auf Anfrage erhiltlich!
=) l @) I o Longueur de la tige D’autres dimensions disponibles sur demande!




WHEEL LOCK NUTS / RADSICHERUNGSMUTTERN / ECROUS ANTIVOL

Part Number Thread Seat Total Length Hex size Image Versions available
Artikelnummer Gewinde Sitz Gesamtlinge Schliisselweite Abbildung Ausfiihrungen
N°d’article Filetage Siege Longueur totale Ouverture de clé Figure Versions disponibles
24138 1/2“ 60° 37.0 mm 19 mm I SU SUB
21153 M12x1.25 flach/flat/plat 15.0 /35 mm 21 mm E SuU
21156 M12x1.5 flach/flat/plat 15.0 /35 mm 21 mm E SuU SL
20116 M12X1.5 flach/flat/plat 35.0/42.2 mm 19 mm E SuU SL
24152 M12X1.25 60° 32.5 mm 19 mm I SU SL
24154 M12x1.25 60° 32.5 mm 21 mm | SU SL SUB
24157 M12x1.5 60° 32.5mm 19 mm I SuU SL
24195 M12x1.5 60° 32.5mm 21 mm I SuU SL
24212 M12x1.5 60° 32.5mm 19 mm U SU SL
24137 M12x1.5 60° 37.0 mm 19 mm I SU SUB
24238 M12x1.5 60° 37.0 mm 21 mm I SU
25000 M12x1.5 R12 29.9 mm 19 mm K SU SL
24658 M14x1.5 60° 39.0 mm 21 mm U SL
24214 M14x1.5 60° 39.7 mm 21 mm I SU
21157 M14x1.5 flach/flat/plat 19.4/42.6 mm 22 mm E SuU
21158 M14x1.5 flach/flat/plat 40.8 mm 22 mm E SuU
Under hub cap/ Offene Version / Version Ouvert
24013 M12x1.25 60° 19.7 mm 19/21 mm H SuU
24012 M12x1.5 60° 19.7 mm 19/21 mm H SuU
24019 M14x1.5 60° 22.7 mm 22 mm H SU
25167 M14x1.5 R14 22.7 mm 19 mm H SU
*Image/Abbildung/Figure
I E u H K b.) Total length /

T f o Further applications available on demand!
| *"'3 o | g I - —|® — == ®  longueur totale Weitere Abmessungen auf Anfrage erhiltlich!
! - - —d et . 0 D’autres dimensions disponibles sur demande!

Gesamtldnge/




WHEEL INSTALLATION KIT / RADMONTAGESATZE / KIT DE MONTAGE DE ROUE

WHEEL BOLTS/ RADBOLZEN / BOULONS DE ROUE
Part Number Thread Seat Shaft length Hex size Schliisseldurchmesser Versions available
Artikelnummer Gewinde Sitz Schaftldnge Schliisselweite Key diameter Ausfiihrungen
N°d’article Filetage Siege Longueur de la tige Ouverture de clé Diamétre de la clé Versions disponibles
67216 M12x1.25 60° 22.0 mm 17 mm 25.8 mm SU SUB
67261 M12x1.25 60° 25.6 mm 17 mm 25.8 mm SuU SUB
67215 M12x1.25 60° 29.0 mm 17 mm 25.8 mm SuU SUB
67179 M12x1.5 60° 25.5mm 17 mm 25.8 mm SU SUB
67222 M14x1.5 60° 28.0 mm 17 mm 25.8 mm SuU SUB
67205 M14x1.5 60° 30.5 mm 17 mm 25.8 mm SuU SUB
67242 M14x1.5 60° 39.0 mm 17 mm 25.8 mm SuU SUB
67243 M14x1.5 60° 44.0 mm 17 mm 25.8 mm SuU SUB
67246 M14x1.5 60° 49.0 mm 17 mm 25.8 mm SU SUB
67226 M14x1.25 60° 27.4mm 17 mm 25.8 mm sU SUB
67228 M14x1.25 60° 32.4mm 17 mm 25.8 mm SU SUB
67229 M14x1.25 60° 37.4 mm 17 mm 25.8 mm SU SUB
67230 M14x1.25 60° 42.4 mm 17 mm 25.8 mm SU SUB
67231 M14x1.25 60° 47.4 mm 17 mm 25.8 mm SU SUB
68018 M14x1.5 R13 26.7 mm 17 mm 25.8 mm SU SUB
68058 M14x1.5 R13 32.4 mm 17 mm 25.8 mm SU SUB
68059 M14x1.5 R13 36.7 mm 17 mm 25.8 mm SU SUB
68060 M14x1.5 R13 41.7 mm 17 mm 25.8 mm SU SUB
68061 M14x1.5 R13 46.7 mm 17 mm 25.8 mm SU SUB
68020 M14x1.5 R14 28.3 mm 17 mm 25.8 mm SuU SUB
68044 M14x1.5 R14 35.4 mm 17 mm 25.8 mm SU SUB
68174 M14x1.5 R14 27.5mm 17 mm 25.8 mm SU SUB
68051 M14x1.5 R14 40.0 mm 17 mm 25.8 mm SU SUB
68053 M14x1.5 R14 45.0 mm 17 mm 25.8 mm SU SUB
68055 M14x1.5 R14 50.0 mm 17 mm 25.8 mm SU SUB

10



WHEEL INSTALLATION KIT / RADMONTAGESATZE / KIT DE MONTAGE DE ROUE

WHEEL NUTS/ RADMUTTERN/ ECROUS DE ROUE

Part Number Thread Seat Total Length Hex size Schliisseldurchmesser Versions available
Artikelnummer Gewinde Sitz Gesamtlinge Schliisselweite Key diameter Ausfiihrungen
N°d’article Filetage Siege Longueur totale Ouverture de clé Diametre de la clé Versions disponibles
84862 M12x1.25 60° 36.8 mm 19 mm 27.7 mm SU SUB
84557 M12x1.5 60° 36.8 mm 19 mm 27.7 mm SuU SUB
.
113

Lug Bolts/Nuts are critical wheel fasteners. Failure to comply with guidelines & warnings could cause an unsafe condition and result in serious injury
or death. Do NOT use a bolt with a different seat style (cone or radius) or a bolt shorter or longer than the lug bolt specified for your wheel.
IMPORTANT: Please see further information in the installation instruction on pages 49 & 50.

Installieren Sie NIEMALS eine Radbefestigung an lhrem Fahrzeug, die Uiber einen anderen Sitz (Kegel- oder Kugelsitz) oder eine kiirzere/langere
Schaftlange als die Original-Radbefestigung lhres Fahrzeugs verfiigt. Nichtbeachtung der Warn- und Sicherheitshinweise kann zu lebensgefahrlichen
Situationen im StraBenverkehr fiihren.

WICHTIG: Weitere Informationen finden Sie in der Montageanleitung auf der Seite 52 & 53.

()

Ne veuillez jamais installer un boulon/un écrou avec un autre siége que les boulons/écrous d’origine ou avec une autre longueur de la tige.
Les boulons / écrous sont des attaches de roue essentielles et critiques. Le non-respect des directives et avertissements peut provoquer une
situation dangereuse et entrainer des blessures graves ou la mort.

IMPORTANT: SVP lire en particulier les instructions d'installation sur les pages 55 et 56.

11



OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Rona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
27215 27169 27216 27185 27169 27169 27215 27215
Alfa Romeo Alfa 156 2002- 27216 27216 27562 27216 27215 27196 27216 27170 27215 27215 27215 27215 27215 27215 27562 27562 27215 27215 27215 27215
Alfa 159 2005- 27184 27184 27222 27222 27205 27181 g;;g; 27181 27181 27181 27181 27181 27181 27222 27222 27181 27205 27205 27181 27205
27215 27169 27216 27185 27169 27169 27215 27215
Alfa 166 2003-2007 27216 27216 27562 27216 27215 27196 27216 27170 27215 27215 27215 27215 27215 27215 27562 27562 27215 27215 27215 27215
Alfa 4C 2013- 27184 27184 27222 27222 27205 27181 g;;g; 27181 27181 27181 27181 27181 27181 27222 27222 27181 27205 27205 27181 27205
27215 27169 27216 27185 27169 27169 27215 27215
Alfa GT 2004-2010 27216 27216 27562 27216 27215 27196 27216 27170 27215 27215 27215 27215 27215 27215 27562 27562 27215 27215 27215 27215
N 27215 27169 27216 27185 27169 27169 27215 27215
Alfa Spider 2003-2005 27216 27216 27562 27216 27215 27196 27216 27170 27215 27215 27215 27215 27215 27215 27562 27562 27215 27215 27215 27215
Brera 2006- 27184 27184 27222 27222 27205 27181 g;;gg 27181 27181 27181 27181 27181 27181 27222 27222 27181 27205 27205 27181 27205
- 27215 27169 27216 27185 27169 27169 27215 27215
Giulia 2015- 27216 27216 27562 27216 27215 27196 27216 27170 27215 27215 27215 27215 27215 27215 27562 27562 27215 27215 27215 27215
- 27215 27169 27216 27185 27169 27169 27215 27215
Giulietta 2010- 27216 27216 27562 27216 27215 27196 27216 27170 27215 27215 27215 27215 27215 27215 27562 27562 27215 27215 27215 27215
. 27215 27169 27216 27185 27169 27169 27215 27215
MiTo 2008- 27216 27216 27562 27216 27215 27196 27216 27170 27215 27215 27215 27215 27215 27215 27562 27562 27215 27215 27215 27215
. 27215 27169 27216 27185 27169 27169 27215 27215
Stelvio 2016- 27216 27216 27562 27216 27215 27196 27216 27170 27215 27215 27215 27215 27215 27215 27562 27562 27215 27215 27215 27215
Aston Martin DB11 2016- 28176 28176
27205 27181 27181 27181 27181
" 27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
Audi Al 2010- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 27181 28018 27205 27222 27222 27222 27181 28032 28018 28018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
A2 2000-2004 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 27181 28018 27205 27222 27222 27222 27181 28032 28018 28018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
A3 1996- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 27181 28018 27205 27222 27222 27222 27181 28032 28018 28018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
A4 1994- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 27181 28018 27205 27222 27222 27222 27181 28032 28018 28018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
A5 2007- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 27181 28018 27205 27222 27222 27222 27181 28032 28018 28018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
A6 2004- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
l 27181 27222 28018 27201 27181 28018 27205 27222 27222 27222 27181 28032 28018 28018 27222

12




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
27205 27181 27181 27181 27181
) 27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
Audi A7 2010- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 e 28018 e 27222 27222 27222 27181 28032 28018 28018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
A8 1994- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 S 8018 ] 27222 27222 27222 27181 58099 28018 58018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
Q@2 2016- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 e 28018 e 27222 27222 27222 27181 28032 28018 28018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
Q3 2011- 28177 28177 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 S 8018 ] 27222 27222 27222 27181 58099 28018 58018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
Qs 2012- 28177 28177 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 e 28018 e 27222 27222 27222 27181 28032 28018 28018 27222
28044 25032 28032 28044 28044 28032 28032
a7 2005- 28044 28044 oy 28032 53(1);; 28032 28032 28032 o 28032 e 28032 28032 27183 27183 e T T 27183 28032
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
R8 2007- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 e 28018 S 27222 27222 27222 27181 28032 28018 28018 27222
27205 27181 27181 27181 27181
27222 27181 27181 27205 27181 27181 27181 27222 27181 27181
s 1998- 28018 28018 27222 27222 28018 27181 27222 27222 27222 27181
27181 27222 28018 27201 S 58018 ] 27222 27222 27222 27181 58099 28018 58018 27222
! o 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
BMW Ter Reihe/series/série | 2004-2011 24 27re 24 27204 27221 27221 27204 27221 27221 27221 27191 27221 27221 27221 222 27204 27221 28026 27221 27221
1er Reihe/series/série 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
(> F20) 202 24220 24220 24220 24220 27229 27229 20220 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 20220 20220 27229
! o 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
2er Reihe/series/série 2013- 27226 27226 27226 27226 27229 27229 27226 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 27226 27226 27229
: o 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
HErREiRasiEsaanD || AR AR Al Al 27204 27221 2222 27204 27221 27221 27221 27191 27221 27221 27221 2222 27204 27221 25028 27221 27221
3er Reihe/series/série 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
(> F30) 2012- 27226 27226 27226 27226 27229 27229 27226 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 27226 27226 27229
: o 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
A AR 20 24220 24220 24220 24220 27229 27229 20220 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 20220 20220 27229
! o 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
Ser Reihe/series/série | 1995-2010 24 27 24 27204 27221 27221 27204 27221 27221 27221 27191 27221 27221 27221 222 27204 27221 28026 27221 27221
5er Reihe/series/série 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
(> F10) vk 24220 24220 24220 24220 27229 27229 20220 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 20220 20220 27229
! o 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
Ber Reihe/series/série | 2003-2010 24 27re 24 27204 27221 27221 27204 27221 27221 27221 27191 27221 27221 27221 222 27204 27221 28026 27221 27221
6er Reihe/series/série 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
l (> F12) 200 24220 24220 24220 20220 27229 27229 20220 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 20220 20220 27229

13




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu Q=
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
. . - 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
BMwW 7er Reihe/series/série | 1994-2001 240 anrs 240 27204 27221 2r221 27204 27221 27221 27221 27191 27221 27221 27221 222 27204 27221 28026 27221 27221
. . - 27181 27181 27181 27181 27181 27181 27181 27181 27181
7er Reihe/series/série 2002-2007 27181 27181 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27221 27205 27205 27205 57922 27205
7er Reihe/series/série 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
(> Fo1) 2007- 2rzeg 27226 2rzeg 27226 27229 27229 2rzeg 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 27226 2rzeg 27229
. 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
B Al 2220 2220 2220 2220 27229 27229 2220 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 2220 2220 27229
. 27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
i 2013- 2rzeg 27226 2rzeg 27226 27229 27229 2rzeg 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 27226 2rzeg 27229
27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
X AWK A A A 27204 27221 e 27204 27221 27221 27221 27191 27221 27221 27221 e 27204 27221 D 27221 27221
27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
X1 (>F48) 2015- 2rzeg 27226 2rzeg 27226 27229 27229 2rzeg 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 27226 2rzeg 27229
27181 27181 27181 27181 27181 27181 27181 27181 27181
X3 (E83) 2004-2010 27181 27181 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27221 27205 27205 27205 57922 27205
27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
X3 (> F25) 2010- 2rzeg 27226 2rzeg 27226 27229 27229 2rzeg 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 27226 2rzeg 27229
27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
% evi= 2220 2220 2220 2220 27229 27229 2220 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 2228 2228 27229
27181 27181 27181 27181 27181 27181 27181 27181 27181
X5 2003-2007 27181 27181 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27221 27205 27205 27205 27022 27205
27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
6 (=) A 2220 2220 2220 2220 27229 27229 2228 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 2220 2220 27229
27226 27226 27226 27226 27226 27226 27226 27226 27226 27226 27179 27226 27226
X6 2008- 2rzeg 27226 2rzeg 27226 27229 27229 2rzeg 27229 27229 27230 27229 27229 27229 27230 27229 27226 27229 27226 2rzeg 27229
27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
= a2 AR AR A 27204 27221 e 27204 27221 27221 27221 27191 27221 27221 27221 e 27204 27221 D 27221 27221
27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
2 2003- 24l 279 24l 27204 27221 27221 27204 27221 27221 27221 27191 27221 27221 27221 ezl 27204 27221 28026 27221 27221
Cadillac ATS 2013- 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
cTs 2003 - 2007 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
l cTS 2008- 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019

14




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
Cadillac Escalade 1999 - 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
SRX 2010 - 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Chevrolet Aveo 2006- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Elazels RS 24012 24012 24012 24012 24012 U 24012 24012 24012 24012 25257 24012 U 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Camaro 1982-2002 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 21028 24012 24012 24012 24012 24012 24012 24012
e 2009- 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
. 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Captiva 2006-2015 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 21028 24012 24012 24012 24012 24012 24012 24012
Corvette 1984- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Cruze 2009- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Epica 2006-2011 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
P 24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Evanda 2002-2007 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 2028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
oS Y 24012 24012 24012 24012 24012 22s 24012 24012 24012 24012 25257 24012 22s 24012 24012 24012 24012 24012 24012 24012
" 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Lacet 2004-2010 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 2028 24012 24012 24012 24012 24012 24012 24012
27179 27179 27179 27179 27179 27015 27179 27179
Lanos 1997-2002 27204 27204 27204 23;33 g;g;? 27204 27204 27204 g;;;? 27204 g;;;? g;;;? g;;;? g;g;? 27179 27204 g;g;? g;;;? 27204 g;;;?
27221 27221 27221 27221 27221 27221 27221 27221
Malibu 1982-2012 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Malib 2013- 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
U 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
. 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
Matiz 2005-2010 24013 24013 24013 24013 24013 24028 24013 24013 24013 24013 24013 24013 21028 24013 24013 24013 24013 24013 24013 24013
. 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
l Mz DY 24012 24012 24012 24012 24012 22e 24012 24012 24012 24012 25257 24012 22s 24012 24012 24012 24012 24012 24012 24012

15




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics

Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157

Chevrolet Orlando 2010- 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157

fezg AT 24012 24012 24012 24012 24012 U 24012 24012 24012 24012 25257 24012 U 24012 24012 24012 24012 24012 24012 24012

Spark 2010- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157

P 24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012

T 2013- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157

24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157

Chrysler 200 2011-2014 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 24012 24012 21028 24012 24012 24012 24012 24012 24012 24012

27169 27170 27170 27170 27170 27169 27169 27170 27170 27170 27169 27170 27170 27170 27169 27170 27170 27170

200 2015- 27261 27261 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216

27562 27261 27261 27261 27261 27562 27562 27261 27261 27261 27562 27261 27261 27261 27562 27261 27261 27261

300C 2004-2007 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214

24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157

Sl A 24012 24012 24012 24012 24012 U 24012 24012 24012 24012 24012 24012 22e 24012 24012 24012 24012 24012 24012 24012

27179 27179 27179 27179 27179 27179 27179 27179 27179

Crossfire 2003-2007 28023 28023 g;;gi g;;gi 27204 27204 g;gg? 27204 27015 g;;? 27204 g;;gi g;;? 27204 27204 27204 27204 gg?sg g;ggi 27204

27221 27221 27221 27221 27221 27221 27221 27221 27221

I 2008- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157

Yyag 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012

Neon 1994-2002 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157

24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157

Rewhoey e 24012 24012 24012 24012 24012 U 24012 24012 24012 24012 24012 24012 22e 24012 24012 24012 24012 24012 24012 24012

. 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157

PT Cruiser 2000-2010 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 24012 24012 21028 24012 24012 24012 24012 24012 24012 24012

Sebrin 2007 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157

9 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012

Wrangler 2007- 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138

9 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010

Citroén Berlingo 1996- 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169

9 27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215

27179 27179 27179 27221 27204

C1 2005- 27203 26003 27179 27204 27221 27179 27221 27179 27221 27221 27021 27015 27221 27221 27221 27021 27015 27221 27179 27221

l c2 2003-2009 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169

27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215

16




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
Citroén c3 2002- 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215
c4 2004- 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215
c5 2001- 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215
c6 20052012 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215
27222 27181 27222 27222 27222 27222 27222 27222 27222
Cc8 2002-2014 27184 27184 27222 27181 27205 27201 27181 27222 27181 27222 27181 27181 27181 27222 27181 27181 27181 27181 27222 27181
C-Crosser 2007-2013 24195 gl} gg 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
C-Zero 2009- 24195 gl} gg 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
DS3 2010- 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215
DS4 2011- 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215
DS5 2011- 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215
DSX 2016 27170 26002 27170 27170 27169 27169 27169 27169 27169 27169 27215 27169 27169 27169 27215 27169 27169 27185 27215 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27216 27215 27215 27216 27216 27215 27169 27169 27215
. 27222 27181 27222 27222 27222 27222 27222 27222 27222
Evasion 1994-1998 27184 27184 27222 27181 27205 27201 27181 27222 27181 27222 27181 27181 27181 27222 27181 27181 27181 27181 27222 27181
27222 27181 27222 27222 27222 27222 27222 27222 27222
Jumpy (1, 1) 1995-2006 27184 27184 27222 27181 27205 27201 27181 27222 27181 27222 27181 27181 27181 27222 27181 27181 27181 27181 27222 27181
27170 27170 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27215 27169 27169 27185 27215 27169
e 02200222008 27216 28002 27216 27216 27215 27215 27215 27215 27215 27215 22218 27216 27215 27215 27216 27216 27215 27169 27169 27215
N 27015 27179 27179 27204 27015 27179 27179 27179 27015 27179 27179
Dacia Duster 2010- 27204 27204 27021 27204 27015 27204 27221 27021 27221 27021 27021 27021 27221 27221 27021 27204 27021 27221 27207 27021
27015 27179 27179 27204 27015 27179 27179 27179 27015 27179 27179
Dty iz a0 a0 27221 27204 2 27204 e 27221 e 27221 27221 27221 e e 27221 a0 27221 27221 a0 27221
27015 27179 27179 27204 27015 27179 27179 27179 27015 27179 27179
Lodgy 2011- 27204 27204 27221 27204 27015 27204 27221 27221 27221 27221 27221 27221 27221 27221 27221 27204 27221 27221 27207 27221
27015 27179 27179 27204 27015 27179 27179 27179 27015 27179 27179
1 LegEm e a0 a0 27221 27204 24000 27204 e 27221 e 27221 27221 27221 e e 27221 a0 27221 27221 220 27221

17




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics

Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz

) 27015 27179 27179 27204 27015 27179 27179 27179 27015 27179 27179

Dacia Sandero 2008- 27204 27204 57201 57204 27015 57204 27221 7921 27221 57201 7201 7201 27221 27221 7201 27204 57201 57201 27207 7201

' 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157

Daihatsu Cligtegl 200 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157

Copen S 2006-2010 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 28028 24012 24012 24012 24012 24012 24012 24012

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157

Gz 20042002 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012

Materia 2007- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 T 24195 24157 24157 24157 24157 24157 24157

24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157

Lioke A 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157

Rocky 1996-2000 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 28028 24012 24012 24012 24012 24012 24012 24012

S o 24157 24157 24157 24157 24157 T 24157 24157 24157 24157 24157 24157 T 24195 24157 24157 24157 24157 24157 24157

24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012

Terios 1997- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 T 24195 24157 24157 24157 24157 24157 24157

24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012

S ey 24157 24157 24157 24157 24157 T 24157 24157 24157 24157 24157 24157 T 24195 24157 24157 24157 24157 24157 24157

24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157

Dodge Avenger 1995-2014 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 25057 24012 28028 24012 24012 24012 24012 24012 24012 24012

: 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157

(el 200C 20 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 24012 24012 24012

Ghallenger 2011 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214

9 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019

e - T 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214

9 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019

Durango 2011 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214

9 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019

P— ey 24157 24157 24157 24157 24157 T 24157 24157 24157 24157 24157 24157 T 24195 24157 24157 24157 24157 24157 24157

urmey 24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012

Nitro 20072012 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138

24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24157

l Sels TS 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012

18




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu Q=
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
Dodge Vioer 1992- 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138
9 P 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010
Fiat o T 24195 24195 24195 24195 24157 T 24195 24195 24195 24195 24195 24195 T 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
500 2007- 27218 27216 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Sk 202 2220 2220 22215 27216 27215 27215 27170 20215 27215 27215 27215 27216 AN 27215 20c2 27562 27215 2450 Y 27216
27562 27562 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
500X 2014- 27218 27216 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27215 27169 27169
27170 27169 27169 27169 27169 27216 27169 27169 27169 27169 27169 27169
B 20052000 22 22 22 27216 27216 27216 2221 20215 27215 27215 27215 27216 AN 27215 27215 27215 27215 2450 Y 27215
27170 27562 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Bravo 2007-2014 27218 27218 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27169 27169 27169
: 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
iiguEie e 2200 2200 2 27216 27215 27215 27170 SI2L5 27215 27215 27215 27216 A 27215 202 27562 27215 2 &AW 27216
27562 27562 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Doblo 2005 27218 27218 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
2006- 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181
DD (<3,5t) S S A A 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222
Ducato 2006-(>3,51) 27566 27566
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
D) LSSaEeE2 2220 2220 20215 27216 27215 27215 27170 20215 27215 27215 27215 27216 AN 27215 20c2 27562 27215 2450 Y 27216
27562 27562 27185
27169 27169 27169
., 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Fiorino 2008- 27218 27218 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
24157 24157
Freemont 2011- e e 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
27179 27169 27169
27179 27179 27179 27215 27179 27179 27170 27179
Grande Punto 2005-2009 27204 27204 27179 27204 27179 57204 s 27179 27221 27221 27179 7201 oo 7201 oo 27204 27215 27180 D 57204
27221 27221 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
e 200 2220 2220 20215 27216 27215 27215 27170 20215 27215 27215 27215 27216 AN 27215 2052 27562 27215 2450 EAIY 27216
27562 27562 27185
27169 27169 27169
) 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Linea 2007- 27218 27218 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
l Rleted LSS5,2002 22208 22208 g;gég 27216 27215 27215 27170 g;gég 27215 27215 27215 27216 AN 27215 20c2 27562 27215 g;} gg Y 27216

19




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
27169 27169 27169
) ' 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Fiat Multipla 1999-2010 27218 27218 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Ptk 202 2220 2220 22215 27216 27215 27215 27170 22215 27215 27215 27215 27216 205 27215 20c2 27562 27215 2450 Y 27216
27562 27562 27185
27169 27169 27169
) 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Punto Cabrio 1994-2000 27218 27216 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27179 27169 27169
27179 27179 27179 27215 27179 27179 27170 27179
Punto Evo 2009-2012 27204 27204 27179 27204 27179 ST S 27179 27221 27221 27179 S S S S 27204 27215 27180 A ST
27221 27221 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Qubo 2008- 27218 27216 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27179 27169 27169
- 27179 27179 27179 27215 27179 27179 27170 27179
Sedici 2006-2008 27204 27204 27179 27204 27179 o) S 27179 27221 27221 27179 S S S S 27204 27215 27180 A ST
27221 27221 27185
27169 27169 27169
- 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Sedici 2009-2014 27218 27218 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27169 27169 27169
' 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Seliiie 20012000 2220 2220 22215 27216 27215 27215 27170 22215 27215 27215 27215 27216 AN 27215 20c2 27562 27215 2450 Y 27216
27562 27562 27185
27169 27169 27169
' 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Stilo 2001-2008 27218 27216 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27169 27169 27169
27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
St el 2220 2220 22215 27216 27215 27215 27170 20215 27215 27215 27215 27216 AN 27215 20c2 27562 27215 2450 Y 27216
27562 27562 27185
27169 27169 27169
) 27170 27169 27169 27215 27169 27169 27216 27169 27169 27216 27169 27169
Tipo 2016- 27218 27218 20215 27216 27215 27215 27170 27216 27215 27215 27215 27216 2455 27215 2562 27562 27215 27180 240 27216
27562 27562 27185
27184 27184 27184 27184 27184 27184 27184 27184
Ulysse 1994-2014 27184 27184 27222 27222 27181 27205 e e e 27184 e e 27181 27222 27184 27181 e e 27209 e
Ford B-Max 2012- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
S TR 24212 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
C-Max 2010- 24212 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
" . 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
P 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Edge 2015- 24214 24658 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
9 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
o T 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198 24198
P 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010

20




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
Ford Fiesta 2013 24212 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Fiesta 2013- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Focus 2004-2011 24212 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Femis 2012- 24157 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
u 24012 24157 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Fusion 2002-2012 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
28020 28044 28044
27205 27222 27205 27205 27205 27181 27205 27205 27205 27181 27205
(Gt s L L S S 27181 S 27205 AR S 27222 27222 27222 27205 27222 27222 B0 27222 200 27222 27181
27205 28017 27222
Galax 2006- 24214 24658 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
y 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Grand C-Max 2010- 24157 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24157 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
KA (RBT) 2008 24212 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216
AR AW 2200 2200 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215
KA 2016- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
+ 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
e 2013 24212 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
ug 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Kuga 2013- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
9 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Mondeo 2014 24212 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Mondeo 2015- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Mondeo Vignale 2015- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
9 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Mustan: 2014 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197 24197
9 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010
Mustan: 2015- 24214 24658 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
- 9 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Ranger 2015- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
9 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012

21




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
Ford S-Max 2006- 24214 24658 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Tourneo 2012- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Transit Connect 2012- 24157 24212 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24157 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Honda Accord 2008- 22000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 28022 24012 24012 24012 24012 24012 24012 24012
" 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Gy A PEED PEED 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 2D 24012 24012 24012 24012 24012 24012 24012
- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Civie 2011~ 22000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Gy 005 PEED PEED 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
FR-V 2005-2009 22000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
IR A PEED PEED 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
. 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Insight 1999-2013 22000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Iz LA PEED PEED 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Jazz 2008- 22000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Lege AU PEED PEED 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Logo 1996-2001 22000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
NSX 2016- 28020 28020
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
NSX 1997-2005 22000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
iy 00 PEED PEED 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
. 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
l Pilot 2002 22000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012

22




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Rona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz

24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Honda IAElNED o200 22000 22000 24012 24012 24012 28028 24012 24012 24012 24012 25057 24012 28028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
52000 1999-2009 =000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 28028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Sl [oS52000 22000 22000 24012 24012 24012 28028 24012 24012 24012 24012 25057 24012 28028 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Stream 2000-2007 =000 25000 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 28028 24012 24012 24012 24012 24012 24012 24012
24195

! 24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
Hyundai et 2000 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 g::)?;
Atos 2004-2008 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gﬂgg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 4019
24195

) 24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
Cams 20022008 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gi&?;
Elantra 2010- 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gi} gg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 54019
24195

: 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
Caness 2005y . 21458 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gigf;
Getr 2002-2009 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gi} gg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 54019
24195

24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
CarSanialie 2005y 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gigf;
Grandeur 2005- 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gﬂgg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 54019
- 2008- 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 24098 24157 24157 24157 24157 24157 24195 gj} gg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 S
20 2008- 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gﬂgg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 54019
- — 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 24028 24157 24157 24157 24157 24157 24195 gj} gg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 S
40 2011- 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gﬂgg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 4019
- 2010- 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 24028 24157 24157 24157 24157 24157 24195 gj} gg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 S
x5 2009- 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gi} gg
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 4019

23




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz

24195

! : 24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
Hyundai ety 200S 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gigf;
Matrix 2001-2010 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gﬂ g?
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 54019
S oy 24238 24238 24157 24157 24157 T 24157 24157 24157 24157 24157 24195 T 24157 24157 24157 24157 24157 24195 521 g?
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 e
24195

24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
Santamo 1998-2004 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gj&?g
24195

24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
enecay 200152005 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gigf;
24195

) 24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
Tiburon 20022009 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gj&?g
24195

: 24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
YR 2002000 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gi&i
24195

) 24238 24238 24157 24157 24157 24157 24157 24157 24157 24157 24195 24157 24157 24157 24157 24157 24195
Trajet 1999-2008 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 24012 24012 28028 24012 24012 24012 24012 24012 24012 gj&?g
S— ol 24238 24238 24157 24157 24157 T 24157 24157 24157 24157 24157 24195 T 24157 24157 24157 24157 24157 24195 521 g?
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 e
Veloster 2011- 24238 24238 24157 24157 24157 24028 24157 24157 24157 24157 24157 24195 o 24157 24157 24157 24157 24157 24195 gﬂg?
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 54019
@ — 24238 24238 24157 24157 24157 T 24157 24157 24157 24157 24157 24195 T 24157 24157 24157 24157 24157 24195 521 g?
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 e
nfinit Ex 2007-2013 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
51 A 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Gs7 20062013 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
m A 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
aso 2016- 22008 28174 27222 27222 27205 27205 27222 27205 A3 27222 27222 27222 A 27205 27222 27015 22200 27181 27222 27205
5 T 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Q50 2013 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013

24




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Rona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
Infiniti Q60- 2016 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
a7 2010- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Qx50 2013- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Qx70 2013- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Jaguar F-Type 20134 24012 200G 24012 24012 24012 22028 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 24012 24012 24012 24012
F-Pace 2016- 24658 24658 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Syea 228200 24012 RIS 24012 24012 24012 D 24012 24012 24012 24012 24012 D 24012 24012 24012 24012 24012 24012 24012 24012
XE 2015- 24157 20116 24157 24157 24157 24028 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
XE 2012- 24157 20116 24157 24157 24157 24028 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
XJ 2009- 24157 20116 24157 24157 24157 24028 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
a 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
MK Cangpe 005 24012 RIS 24012 24012 24012 D 24012 24012 24012 24012 24012 D 24012 24012 24012 24012 24012 24012 24012 24012
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
X-Type 2001-2009 24012 20116 24012 24012 24012 24028 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 24012 24012 24012 24012
27169 27170 27170 27170 27170 27169 27169 27170 27170 27170 27169 27170 27170 27170 27169 27170 27170 27170
Jeep Cherokee 2015- 27261 27261 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216
27562 27261 27261 27261 27261 27562 27562 27261 27261 27261 27562 27261 27261 27261 27562 27261 27261 27261
Compass 2007-2015 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
P 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
@ Geaes 2011- 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
. 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Patriot 2007-2015 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 24012 24012 24012
27169 27170 27170 27170 27170 27169 27169 27170 27170 27170 27169 27170 27170 27170 27169 27170 27170 27170
Renegade 2015- 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216 27216
27562 27261 27261 27261 27261 27562 27562 27261 27261 27261 27562 27261 27261 27261 27562 27261 27261 27261
Wrangler 2007- 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138 24138
9 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010

25




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
Kia B-SUV 2016- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
e 2006- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Garnival 2005- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Cee'd 2006- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
Cerato 2004-2006 D 24238 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
L5 1999-2002 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Magentis 2000-2011 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
9 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Opirus 2003-2010 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
piru 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Optima 2011- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
P 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Picanto 2004- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Pride 1986-2000 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Pro cee'd 2008- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Retona 1997-2002 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Rio 2005- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Sephia 1993-1999 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
P 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
Siume el et et 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Sorento 2002- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Soul 2008- 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
u 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Spectra 2000-2009 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
P 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012

26




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
) A B . . Enzo Alurad RC Carmani Kronprinz XTRA MsSW Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
Kia SETRE . o o 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
portag 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Venga 2009- o 4238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238 24238
9 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 2450
Lancia Delta 2008-2014 27216 e 27169 e e 27196 s 27562 e s s 27169 s s 27216 s g;; !132 27170
Flavia 20122014 24157 24157 24157 24157 24157 24195 24157 24137 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 2450
e T 27218 27216 2455 27216 27215 RS 27215 20562 27215 27215 27215 2455 27215 27215 27216 27215 g;;?g 240
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27180
Lybra 1998-2005 2220 27216 2458 27216 27215 27196 27215 27562 27215 27215 27215 248 27215 27215 27218 27215 g;;?g 240
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 2450
Clss 20C2e200 27218 27216 2455 27216 27215 RS 27215 20562 27215 27215 27215 2455 27215 27215 27216 27215 Z;?;’ 2400
27205 27222 27222 27222 27222 27222 27222 27222 27222 27183 27222
Phedra 1994-2014 2058 27184 24222 27222 A 27000 27184 27184 27184 27184 24222 A 27184 27184 27184 27184 27184 27184
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 2450
IFSIE IR 27218 27216 2455 27216 27215 RS 27215 20562 27215 27215 27215 2455 27215 27215 27218 27215 Z;?g 2400
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27180
Thema 2011-2014 2220 27216 2458 27216 27215 27196 27215 27562 27215 27215 27215 2458 27215 27215 27218 27215 g;;?g 240
: 27205 27222 27222 27222 27222 27222 27222 27222 27222 27183 27222
iesi 20022008 A A 27222 27222 248 27000 27184 27184 27184 27184 27222 248 27184 27184 27184 27184 27184 27184
Voyager 20112015 24157 24157 24157 24157 24157 24195 24157 24137 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
vag 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 2450
e IS 27218 27216 2455 27216 27215 AR 27215 20562 27215 27215 27215 2455 27215 27215 27218 27215 Z;?;’ 2400
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27180
Ypsilon 2011- 2220 27216 2458 27216 27215 27196 27215 27562 27215 27215 27215 2458 27215 27215 27218 27215 g;;?g 240
27205 27222 27222 27222 27222 27222 27222 27222 27222 27183 27222
Zed o200 A A 27222 27222 248 27000 27184 27184 27184 27184 27222 A 27184 27184 27184 27184 27184 27184
) 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
Land Rover Discovery 3 2004-2009 eiflkers 21187 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
R — - - 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
Y 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Discovery 5 2016 i 21157 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
y 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019

27




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
9 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
Land Rover plcoenSecy Bk 28058 28058 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
Freelander Ii 2006-2014 22520 24658 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Evoque 2011- 24658 24658 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
a 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Range Rover Sport 2013- 21157 21157 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
9 P 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Lexus cT 2010- 24195 gl] gg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
ES 2012- 24195 gllgg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Gs 2012- 24195 gl} gg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
IS 2013- 24195 gllgg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Lc 2016- 24195 gl} gg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
s 2006- 24195 gllgg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
NX 2014 24195 gl} gg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
RC 2015- 24195 gllgg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
RX 2009- 24195 gl} gg 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Maserati Ghibli 2013- 27208 27208
GranCabrio 2010- 27208 27208
GranTurismo 2007- 27208 27208
Levante 2016- 27208 27208
Quattroporte 2013- 27208 27208

28




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu Q=
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
Mazda 2 2002- 24212 24212 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
3 2003- 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
5 2004-2015 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
6 2002- 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
BT 50 2006- 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
X3 2015- 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
X5 2011- 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
X7 2006-2012 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
X9 2007- 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
MPV 1988-2005 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
MX-5 1989- 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
RX-8 20032012 24195 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24157 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
q 24195 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24157 24195 24195 24195
RN 200022 24012 24012 24012 24012 24012 D 24012 24012 24012 24012 24012 24012 D 24012 24012 24012 24012 24012 24012 24012
A-Klasse/class/classe 27179 27192 27179 27179 27221 27221 27221 27179 27179 28028 27179
Mercedes (168) 1997-2004 28176 28023 27204 27204 27207 27221 27221 27204 27015 27015 27191 27221 27221 27179 27015 28176 27179 28172 27179 27204
A-Klasse/class/classe 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(169, W176) A Celiny Celiny 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 2z 27181 27222 27205
27184 28032 27179
28174 27205 27181 27222 27181 27205 28018 27222 27181
AMG-GT 2015 28017 27222 27222 27181 27201 27222 27222 27183 27222 27201 57099 27181 27222 27181 27015 27181 27181 27184 27205
27205 27013 28018
B-Klasse/class/classe 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(T245, W246) e el el 27222 27222 27205 27205 27222 27205 AR 27222 27222 27222 AR 27205 27222 27015 S 27181 27222 27205
27204 27179 20 27204 27221 27179 27015 28028 27179
Citan 2012- 27204 27204 27204 27179 27207 27221 g;;;? 27179 27015 27221 27204 27221 27221 27179 27179 28176 27179 28172 27179 27204
C-Klasse/class/classe
27179 27192 27179 27179 27221 27221 27221 27179 27179 28028 27179
l (W2[)S123/:;122§1 \é\)IZOS, 1993-2006 28176 28023 27204 27204 27207 57921 57921 27204 27015 27015 27191 57921 27221 27179 27015 28176 27179 28172 27179 27204

29




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
C-Klasse/class/classe 27181 27181 27181 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
Mercedes (W204, W205) 2007- 2l 28174 27222 27222 27205 272015 27222 27205 A 27222 27222 27222 A 27205 27222 27015 220 27181 27222 27205
27184 28032 27179
CL 28174 27205 27181 27222 27181 27205 28018 27222 27181
(c215) 1996-2006 28174 28017 27222 27222 27181 27201 27222 27222 27183 27222 27201 57922 27181 27222 27181 27015 27181 27181 27184 27205
27205 27013 28018
CL 28174 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(C216) 2006-2013 2l 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 220 27181 27222 27205
27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
elLA Al el el 27222 27222 27205 27205 27222 27205 AR 27222 27222 27222 AR 27205 27222 27015 S 27181 27222 27205
27179 27192 27179 27179 27221 27222 27222 27179 27179 28028 27179
CLC 2000-2011 28176 28023 27204 27204 27207 27021 27021 27204 27015 27181 27201 27221 27221 27179 27015 28176 27179 28172 27179 27204
aus 27179 27192 27179 27179 27221 27222 27222 27179 27179 28028 27179
(A208, (/:\22((’)99) C208, 1998-2009 28176 28023 27204 27204 27207 57921 57921 27204 27015 27181 27201 57921 27221 27179 27015 28176 27179 28172 27179 27204
CLS 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(C218, C219) 2004- 28l 28174 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 220 27181 27222 27205
E-Klasse/class/classe 27179 27192 27179 27179 27221 27222 27222 27179 27179 28028 27179
(W210) 2l i e a0 a0 27207 27221 27221 27204 27015 27181 27201 27221 e AR 27015 i AR 28172 AR 27204
E-Klasse/class/classe 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(W211, w212, W213) 2002- 2l 28174 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 2rz0s) 27181 27222 27205
27184 28032 27179
27205 27181 27222 27181 27205 28018 27222 27181
G-Klasse/class/classe 2008- 28174 28017 27222 27222 27181 27201 27222 27222 27183 27222 27201 57922 27181 27222 27181 27015 27181 27181 27184 27205
27205 27013 28018
27184 28032 27179
GL 27205 27181 27222 27181 27205 28018 27222 27181
(X164, X166) 2006- 28174 28017 27222 27222 27181 27201 27222 27222 27183 27222 27201 27022 27181 27222 27181 27015 27181 27181 27184 27205
27205 27013 28018
27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(el il el el 27222 27222 27205 27205 27222 27205 AR 27222 27222 27222 AR 27205 27222 27015 S 27181 27222 27205
28174 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
GLC 2015- 28017 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 220 27181 27222 27205
28174 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
il vl 28017 27222 27222 27205 27205 27222 27205 AR 27222 27222 27222 AR 27205 27222 27015 S 27181 27222 27205
28174 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
GLK 2008-2015 28017 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 220 27181 27222 27205
27184 28032 27179
28174 27205 27181 27222 27181 27205 28018 27222 27181
GLS 2006- 28017 27222 27222 27181 27201 27222 27222 27183 27222 27201 57992 27181 27222 27181 27015 27181 27181 27184 27205
27205 27013 28018
27184 28032 27179
28174 27205 27181 27222 27181 27205 28018 27222 27181
M-Klasse/class/classe 2007- 28017 27222 27222 27181 27201 27222 27222 27183 27222 27201 27022 27181 27222 27181 27015 27181 27181 27184 27205
27205 27013 28018
27184 28032 27179
28174 27205 27181 27222 27181 27205 28018 27222 27181
R-Klasse/class/classe 2010-2012 28017 27222 27222 27181 27201 27222 27222 27183 27222 27201 57992 27181 27222 27181 27015 27181 27181 27184 27205
27205 27013 28018
S-Klasse/class/classe 27184 28032 27179
28174 27205 27181 27222 27181 27205 28018 27222 27181
(W140, W220, w221, 1998- 27222 27222 27181 27222 27222 27222 27181 27222 27015 27181
l w222) 28017 27201 27205 27183 27201 27222 27181 27013 28018 27181 27184 27205

30




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Rona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
SL 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
Mercedes (R230, R231) A Cellny 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 e 27181 27222 27205
27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
SLC 2016 28174 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 20302 27181 27222 27205
SLK 27179 27192 27179 27179 27221 27222 27222 27179 27179 28028 27179
(R170, R171) TS A 22y 22y 27207 27221 27221 27204 27015 27181 27201 27221 gzl BT 27015 RS 2 28172 2 27204
SLK 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(R172) 2012 28174 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 21302 27181 27222 27205
27184 28032 27179
28174 27205 27181 27222 27181 27205 28018 27222 27181
SLS 2010-2014 28017 27222 27222 27181 27201 27222 27222 27183 27222 27201 27002 27181 27222 27181 27015 27181 27181 27184 27205
27205 27013 28018
. 28044 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
Sprinter 2006- ek 28174 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 20300 27181 27222 27205
27179 27192 27179 27179 27221 27222 27222 27179 27179 28028 27179
Vaneo (414) 2002-2005 28176 28023 27204 27204 27207 27021 27021 27204 27015 27181 27201 27021 27221 27179 27015 28176 27179 28172 27179 27204
. 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
Viano 2008-2014 ek 28174 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 20300 27181 27222 27205
Vito 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(W638, W639) AU Callny Callny 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 e 27181 27222 27205
V-Klasse/class/classe 27181 27181 27181 27201 27181 27181 27181 27181 27181 27222 27181 28032 28174 27181 27181
(447) 2014- ek 28174 27222 27222 27205 27205 27222 27205 A 27222 27222 27222 A 27205 27222 27015 21302 27181 27222 27205
27226 27226
. 3 27226 27226 27226 27226 27226 27226 27226 27226
Mini Cabrio (R57) 2009- 27226 27226 27226 27226 27229 27226 27226 27229 27229 27229 27229 27229 27229 27226 27226 27229 27229 27226 27229 27229
27230 27230
Cabrio (R52) 2004-2006 27179 27179 27179 27179 27015 27179 27221 27015 27221 27015 27221 27221 27221 27221 27221 27179 27015 27221 27179 27221
27226 27226
27226 27226 27226 27226 27226 27226 27226 27226
Clubman (F54) 2007- 27226 27226 27226 27226 27229 27226 27226 27229 27229 27229 27229 27229 27229 27226 27226 27229 27229 27226 27229 27229
27230 27230
27226 27226
27226 27226 27226 27226 27226 27226 27226 27226
Cooper (R56, F56) 09/2006- 27226 27226 27226 27226 27229 27226 27226 57999 27229 27229 27229 57999 27229 27226 27226 57999 27229 27226 27229 57999
27230 27230
Cooper (R50, R53) 2001-08/2006 27179 27179 27179 27179 27015 27179 27221 27015 27221 27015 27221 27221 27221 27221 27221 27179 27015 27221 27179 27221
27226 27226
27226 27226 27226 27226 27226 27226 27226 27226
Countryman (R60) 2010- 27226 27226 27226 27226 27229 27226 27226 57999 27229 27229 27229 57999 27229 27226 27226 57999 27229 27226 27229 57999
27230 27230
27226 27226
27226 27226 27226 27226 27226 27226 27226 27226
Coupe (R58) 2011- 27226 27226 27226 27226 27229 27226 27226 27229 27229 27229 27229 27229 27229 27226 27226 27229 27229 27226 27229 27229
27230 27230
l One (R50) 2001-08/2006 27179 27179 27179 27179 27015 27179 27221 27015 27221 27015 27221 27221 27221 27221 27221 27179 27015 27221 27179 27221

31




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu AEZ
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
27226 27226
. 27226 27226 27226 27226 27226 27226 27226 27226
Mini One (R56, F56, F55) 09/2006- 27226 27226 27226 27226 27229 27226 27226 27229 27229 g;zgg g;zgg 27229 27229 27226 27226 27229 27229 27226 27229 27209
27226 27226
27226 27226 27226 27226 27226 27226 27226 27226
Paceman (R61) 2013- 27226 27226 27226 27226 27229 27226 27226 57999 27229 27229 27229 57999 27229 27226 27226 57999 27229 27226 27229 57999
27230 27230
27226 27226
27226 27226 27226 27226 27226 27226 27226 27226
Roadster (R59) 2012- 27226 27226 27226 27226 27229 27226 27226 27229 27229 27229 27229 27229 27229 27226 27226 27229 27229 27226 27229 27229
27230 27230
. . 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Mitsubishi 3000 GT 1992-2000 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
ASX 2010- 24195 24195 24195 24157 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 21156 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
. 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Carisma 1995-2004 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Cdli 52008 24012 23 24012 24012 24012 2D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
Colt 2004-2006 24195 21156 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Cdli Q00522 24012 23 24012 24012 24012 2D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
. 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Cordia 1982-1990 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
N 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Eclpse LD 22 24012 23 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Galant 1996-2006 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Cellazan LA 24012 23 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
. 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Grandis 2008-2011 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
v 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
GMEY A 24012 23 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
1200 2006- 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
1450 52008 24012 2iies 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
l Lancer 1978 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012

32




OEM FELGEN AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS

EQUIPMENT D'ORIGINE JANTES AFTERMARKET

Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz

- - 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Mitsubishi ity 20034 24012 21150 24012 24012 24012 22028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
. 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Pajero 1983- 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Ao ey 24012 23 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
. 24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Sigma 1991-1996 24012 21156 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
24195 24195 24195 24157 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
E=cely Az 24012 23 24012 24012 24012 D 24012 24012 24012 24012 25257 24012 D 24012 24012 24012 24012 24012 24012 24012
Nissan 100NX 1990-1995 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 25254 24013 24013 24013 24013 24013 24013 24013 24013
200SX 1993-2002 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
3507 2002-2009 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
370Z 2009- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Almera 1995-2006 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Gube 2010-2011 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
GTR 2007- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Interstar 2002- 27181 27181 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205
Juke 2010- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Leaf 2010- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Maxima 1998-2004 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Micra (K11) 1992-2003 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
l Micra (K12) 2003-2010 27207 27207 27207 27207 27207 27207 27207 27207 27207 27207 27221 27207 27207 27207 27207 27207 27207 27207

33




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
Nissan Micra (K13) 2010- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Murano 2002- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
NavEm 2005- 24154 gﬂ gg 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 25254 24013 24013 24013 24013 24013 24013 24013 24013
Note -2013 27207 27207 27207 27207 27207 27207 27207 27207 27207 27207 27221 27207 27207 27207 27207 27207 27207 27207
Note 2014- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 25254 24013 24013 24013 24013 24013 24013 24013 24013
NV200 2009- 24154 gﬂgg 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 25254 24013 24013 24013 24013 24013 24013 24013 24013
NV400 2010- 27181 27181 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205
Pathfinder 1986-1987 24154 gﬂgg 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 25254 24013 24013 24013 24013 24013 24013 24013 24013
Pathfinder 1988- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Patrol 1988-2002 24154 gﬂgg 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 25254 24013 24013 24013 24013 24013 24013 24013 24013
Patrol 2002-2009 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Pixo 2009- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Prairie 1981-2004 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Primastar 2002- 27181 27181 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205 27205
Primera 1990-2007 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Pulsar 2014- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
u 24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Qashqai (J10) 2006-2014 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
a 24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
. 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
Qashaai (J11) 2014- A anTe A 27204 27221 27221 27204 27221 27221 27221 27191 27221 27221 27221 e 27204 27221 28026 27221 27221
S 1990-2000 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
Y 24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013

34




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
Nissan Terrano 1986-1987 24154 gﬂgg 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 25254 24013 24013 24013 24013 24013 24013 24013 24013
ToEs 1988- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
Tiida 2004- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
X-Trail 2001- 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Opel / Vauxhall Adam 2013 20208 27204 27221 27179 27221 27221 27221 27221 222 ar221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
Agila A 2000-2007 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
9 24013 24013 24013 24013 24013 24013 24013 24013 24013 24254 24013 24013 24013 24013 24013 24013 24013 24013
. 27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Agila B 2007- 2r20s 27204 27221 27179 27221 27221 27221 27221 ezl 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
PR 2011- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
P 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Antara 2006- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
RSt (7 @ =) TR a0 a0 27221 27179 27221 27221 27221 27221 e e 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Astra(J, K) 11/2009- 24012 24157 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 21028 24012 24012 24012 24012 24012 24012 24012
Crmerdh 2013- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Combo (C) 2001-2011 2r20s 27204 27221 27179 27221 27221 27221 27221 2zl 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
27170 27170 27169 27169 27169 27169 27169 27169 27169 27169 D

@amizo (D) evilil 21200 21200 A 27216 27216 A 27215 27215 27215 27215 27215 S 27215 27215 2200 27215 g;;?g &AW
27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Corsa (A, B,C, D, ) 1982 2r20s 27204 27221 27179 27221 27221 27221 27221 2zl 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
GT 2007-2009 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Insignia 2008- 24214 24019 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
9 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Karl 2015- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012

35




OEM FELGEN
OEM RIMS

AFTERMARKT FELGEN
AFTERMARKET RIMS

EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
. 27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Opel / Vauxhall Meriva (A, B) 2003 20208 27204 27221 27179 27221 27221 27221 27221 222l 2r221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
Mokka 2012- 24137 24137 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Montere: 1992-1999 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
v 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27222 27222 27205
Movano 1998- 27000 27000 27222 27222 27181 27201 27181 27000 27181 27222 27000 27181 27000 27181
. 27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Signum 2003-2008 2r20 27204 27221 27179 27221 27221 27221 27221 2zl 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
Sintra 1996-1999 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Speedster 2000-2005 2r20s 27204 27221 27179 27221 27221 27221 27221 ezl 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
y 27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
TEJER el a0 a0 27221 27179 27221 27221 27221 27221 e e 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Vectra 1988-2008 2r20s 27204 27221 27179 27221 27221 27221 27221 ezl 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
. 27222 27222 27205
Vivaro 2001- 27000 27000 27222 27222 27181 27201 27181 27000 27181 27222 27000 27181 27000 27181
. 27179 27204 27015 27179 27179 27015 27179 27179 27179 27015 27015 27179 27015 27179 27179 27179
Zafira (A, B) -2011 2r20s 27204 27221 27179 27221 27221 27221 27221 ezl 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
Zafira (C, Tourer) 2011- 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
» el 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27180
27170 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169
Peugeot 1007 -2010 27216 26002 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 g;l:g 24l 27215
27180
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169
e -2 A A 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 g;] gg A 27215
27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179
107 2005-2014 2r20s 26003 27221 27204 ezl 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179
iei3 evi= a0 enes 27221 27204 e 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221
2008 2013- 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;}gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215
27180
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169
l 200 eEHIER A e 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 g;] gg A 27215

36




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu Q=
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz

27180
27170 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169
Peugeot 206 1998-2012 27216 26002 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 g;lgg AT 27215
207 20062015 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;} gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215
208 2012 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;}gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215
3008 2009- 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;} gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215

27180
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169
306 1993-2002 24155 26001 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 g;lgg AT 27215
307 2002-2009 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;} gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215
308 2007- 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;}gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215
4007 2007-2012 24012 21156 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24195 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
4008 2012- 24012 21156 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24195 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012

27180
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169
EC 2D A A 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 g;} Zg A 27215
407 2004-2011 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;}gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215
5008 2009- 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;} gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215
508 2010- 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;}gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215

27180
27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169
Gl eI A A 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 g;} Zg A 27215
607 2000-2010 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;}gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215
27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181
208 el Ak Ak 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 A 27222
27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181 27181
807 2002-2008 IS 27184 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 27222 AT 27222

27180
27170 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169
Bty a2 27216 en02 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 g;} Zg A 27215
RCZ 2010-2015 27170 26002 27215 27170 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 27169 g;}gg 27170 27169
27216 27216 27216 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27215 27169 27215

37




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
28177 28177
Porsche 718 2016- 28177 28177 28177 28044 28044
911 -1998 25167 25167 25167
918 Spyder 2013- 28177 28177 28177 28177
28177
911 (996) 1997-2006 28177 28177 27222 28044 28177 28044 28177
28177
911 (997) 2004-2012 28177 28177 28177 28044 28177
28044
28177 28177
911 (991) 2011- 28177 28177 28177 28044 28044
28177
Boxster 1994- 28177 28177 27181 28044 28177 28044 28177 28177 28177
Cayenne 2002- 28044 28044 28044 28044 28044 28044 gg?gg 28044 28044 28044 28044 28044 28044 27183 28044 28044 28044
28177 28177
Cayman 2005- 28177 28177 27181 28044 28177 28044 28177
28177
Macan 2014- 28177 28177 27222 28177 28177 el 28177 28177 28177 27181
28044 28044
27181
Panamera 2009- 28044 28044 28044 28044 28044 28044 gg?gg 28044 28044 28044 28044 28044 27183 28044 28044 28044
. 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
Renault Alpine 1991-1995 20 24152 24013 24013 24013 24028 24013 24013 24013 24013 24013 24013 22028 24013 24013 24013 24013 24013 24013 24013
27184
. 27179 27181 27181
Avantime 2001-2003 27181 27181 27222 27222 27181 27201 27222 27222 27181 27222 27181 27222 27181 27181 27181 27222
27205 27221 27205 27184
Captur 2013- 27179 27179 27015 27179 27179 27221 27179 27179 27221 27221 27221 27221 27221 27221 27221 27179 27221 27179 27207 27179
" 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Clio (1, II, 1l < 2007) 1990-2007 27207 27207 27207 27204 27221 27179 27221 57921 57921 27015 57921 57921 27221 27221 27015 27207 27221 27015 27207 57021
. 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Clio (Ill > 2008, 1V) 2008- 27204 27204 27207 27204 27221 27179 27221 27221 27021 27015 27021 27221 27221 27221 27015 27207 27221 27015 27207 27221
" 27181 27181
Clio RS 2005- 27184 27184 27222 27222 27181 57922 27184 27181 27181 27222 27181 27222 27181 27222 27181 27181 27184 27222
kL 27179 27181 27181
Espace 2002- 27181 27181 27222 27222 27181 27201 27222 27222 27181 27222 27181 27222 27181 27181 27181 27222
27205 27221 27205 27184

38




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz

27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Renault Fluence 2009-2014 27204 27204 27207 27204 27221 27179 27221 27021 27021 27015 27021 27021 27221 27221 27015 27207 27221 27015 27207 27021

2UlSy 27179 27181 27181
Grand Espace 2002- 27181 27181 27222 27222 27181 27201 27222 27222 27181 27222 27181 27222 27181 27181 27181 27222

27205 27221 27205 27184
27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Grand Modus 2004-2012 27204 27204 27207 27204 27221 27179 27221 27021 27021 27015 27021 27021 27221 27221 27015 27207 27221 27015 27207 27021
- 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Grand Scénic 2005- 27204 27204 27207 27204 27221 27179 27221 57921 57921 27015 57921 57921 27221 27221 27015 27207 27221 27015 27207 57991
Kadjar 2015- 27179 27179 27015 27179 27179 27221 27179 27179 27221 27221 27221 27221 27221 27221 27221 27179 27221 27179 27207 27179
27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Kangoo (KC) 1997-2007 27207 27207 27207 27204 27221 27179 27221 57921 57921 27015 57921 57921 27221 27221 27015 27207 27221 27015 27207 57021
27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Kangoo (W) 2008- 27204 27204 27207 27204 27221 27179 27221 27021 27021 27015 27021 27021 27221 27221 27015 27207 27221 27015 27207 27021
Koleos 2011 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Laguna (I, Il < 2005) 1993-2005 27207 27207 27207 27204 27221 27179 27221 27021 27021 27015 27021 27021 27221 27221 27015 27207 27221 27015 27207 27021
27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Laguna (Il > 2005) 2005-2007 27204 27204 27207 27204 27221 27179 27221 57921 57921 27015 57921 57921 27221 27221 27015 27207 27221 27015 27207 57921

2| 27181
Laguna (Ill) 2008-2015 27222 27222 27222 27222 27181 27022 27184 27181 27181 27222 27181 27222 27181 27222 27181 27181 27184 27222

. 27181 27181
Latitude 2010-2015 27184 27184 27222 27222 27181 57992 27184 27181 27181 27222 27181 27222 27181 27222 27181 27181 27184 27222

2k 27179 27181 27181
Master 2010-2014 27181 27181 27222 27222 27181 27201 27222 27222 27181 27222 27181 27222 27181 27181 27181 27222

27205 27221 27205 27184
Mégane 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
(I, Il < 2005) 1995-2005 27207 27207 27207 27204 27221 27179 27221 57921 57921 27015 57921 57921 27221 27221 27015 27207 27221 27015 27207 57091
Mégane 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
(I1'> 20085, 11, IV) A ey ey 27207 22y ezl 2 ezl 27221 27221 27015 27221 27221 ezl ezl 27015 27207 ezl 27015 ey 27221
27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Modus 2004-2012 27204 27204 27207 27204 27221 27179 27221 57921 57921 27015 57921 57921 27221 27221 27015 27207 27221 27015 27207 57921
Scénic 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
(JA, JM < 2005) LA ey ey 27207 ey ezl 2 gzl 27221 27221 27015 27221 27221 gzl gzl 27015 27207 ezl 27015 ey 27221
Scénic 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
(JA, IM > 2005, JZ) 2005- 21300 27204 27207 27204 e anTe e 27221 27221 27015 27221 27221 e 27221 27015 27207 e 27015 220 27221

2k 27179 27181 27181
Talisman 2015- 27181 27181 27222 27222 27181 27201 27222 27222 27181 27222 27181 27222 27181 27181 27181 27222

27205 27221 27205 27184

39




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
27184
. 27179 27181 27181
Renault Trafic 2001- 27181 27181 27222 27222 27181 27201 27222 27222 27181 27222 27181 27222 27181 27181 27181 27222
27205 27221 27205 27184
. 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Twingo (1) 1993-2007 27207 27207 27207 27204 27221 27179 27221 57921 57921 27015 57921 57921 27221 27221 27015 27207 27221 27015 27207 57021
. 27179 27179 27207 27221 27179 27179 27221 27179 27221 27179
Twingo (11, 1) 2007- 27204 27204 27207 27204 27221 27179 27221 27021 27021 27015 27021 27021 27221 27221 27015 27207 27221 27015 27207 27221
27184
. 27179 27181 27181
Vel Satis 2002-2009 27181 27181 27222 27222 27181 27201 27222 27222 27181 27222 27181 27222 27181 27181 27181 27222
27205 27221 27205 27184
27222 27181 21200 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
Seat Alhambra 1996- 25088 28044 27205 27205 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 27222 27205
27205 27181 21202 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
Hiea A e e 2222 27222 27205 S g;;g; 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 2222 27205
27221 27179 27179 27179 27179 27179 27179 27179
Arosa 1997-2004 28028 28028 27179 27204 27179 27179 27203 27221 27221 27221 27021 27221 27021 27221 27179 27179 27179 27015 27021 27221
27205 27181 21202 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
R i e e 2222 27222 27205 R g;;g; 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 2222 27205
27205 27181 2200 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
lbiza 2005- 28018 28018 2222 27222 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 2lz22 27205
27205 27181 21202 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
e ket e e 2222 27222 27205 S g;;g; 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 2222 27205
27221 27179 27179 27179 27179 27179 27179 27179
Mil 2011- 28028 28028 27179 27204 27179 27179 27203 27221 27221 27221 27021 27021 27021 27221 27179 27179 27179 27015 27021 27021
27205 27181 2020 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
TEHEED A A A ez 27222 27205 2z g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 ez 27205
27181 27179
Skoda Citigo 2011- 28028 28028 27179 27204 27179 27179 Al 27179 27221 27221 27221 27222 27221 27179 Al 27179 27179 27015 27204 27179
27221 28172 27221 27221
27205 28028
27205 27181 2 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
IFEHE A A A ez 27222 27205 2z g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 2reee 27205
27205 27181 21203 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
Kodiaq 2016- 25000 28018 2222 27222 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 2222 27205
27205 27181 2 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
CritviE: A A A ez 27222 27205 2z g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 ez 27205
27205 27181 21203 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
Praktik 2001-2007 25008 28018 2222 27222 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 2222 27205
27205 27181 2 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
IR oy A A ez 27222 27205 2z g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 ez 27205

40




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
27205 27181 2200 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
Skoda Roomster 2006-2015 2508 28018 27222 27222 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 27222 27205
27205 27181 21202 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
Sz A e e 2222 27222 27205 S g;;g; 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 2222 27205
27205 27181 2200 27181 27181 27181 27205 27181 27181 27181 27222 28025 27181 27181 27181
Yeti 2009- 28018 28018 2222 27222 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28018 27205 21222 27205
27179 27179 27179 27179 27179 27179 27179 27179 27179
Smart Forfour (W453) 2014- 27204 27204 27015 27015 27015 27221 27015 27221 27015 27015 27221 27015 27015 27221 27179 27179 27221 27221 27015 27015
Forfour (W454) 2004-2006 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27179 27179 27179
Fortwo 1998-2014 28028 28028 28028 28028 28028 27179 27179 27179 28028 28028 27179 28028 28028 28028 27179 28028 28028 27179 28028 27179
27179 27179 27179 27179 27179 27179 27179 27179 27179
Fortwo (453) 2014- 27204 27204 27015 27015 27015 27221 27015 27221 27015 27015 27221 27015 27015 27221 27179 27179 27221 27221 27015 27015
Roadster 2003-2005 28028 28028 28028 28028 28028 27179 27179 27179 Al 28028 27179 Al 28028 28028 27179 Ul 28028 27179 28028 27179
28028 28028 28028
SsangYon Actyon 2006- 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137
9 9 Y 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
e 2010- 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Rexton | 2001-2006 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Rexton Il 2007- 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
. 27222 27181 27222 27222 27222 27181 27222 27222 27181
Rodius 2004- 27184 27184 27222 27181 27205 27201 27181 27222 27181 27222 27181 27181 27022 27222 27181 27181 27181 27022 27222 27181
Tivoli 2015- 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137 24137
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Subaru BRZ 2012- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Eees 1997 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
\mpreza 1992- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
P 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27015
l iy e A A AR 27204 27221 e 27204 27221 27221 27221 27191 27221 27221 27221 e 27204 27221 27221 27221 27221

41




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
Subaru Legac 1989- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
gacy 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Levor 2015- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
9 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
SVX 1991-1997 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Trezia 2011-2014 24157 gllgg 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
Tribeca 2005- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Vivio 1992-1998 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
XV 2011- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Suzuki Alto 1994- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Baleno 1995-1999 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Carr 1985- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
Y 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
. 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27015 27179 27179
E=Eld avi= a0 a0 A a0 e 27179 27179 27179 27179 27015 27179 27179 27179 27179 27179 AR 27221 27221 a0 27221
Grand Vitara 1998-2015 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
. 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27015 27179 27179
s AT a0 a0 A a0 e 27179 27179 27179 27179 27015 27179 27179 27179 27179 27179 AR 27221 27221 a0 27221
Jimn 1998-2012 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
Y 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Kizashi 2009- 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Liana 2001-2004 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27015 27179 27179
St B2 a0 a0 AR 20 e 27179 27179 27179 27179 27015 27179 27179 27179 27179 27179 AR 27221 27221 a0 27221
Swift 1990-2004 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013

42




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean_1 Tomason
) A B . . Enzo Alurad RC Carmani Kronprinz XTRA MsSW Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
) ; 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27015 27179 27179
Suzuki S 2005y 2720 2720 24 2720 222 27179 27179 27179 27179 27015 27179 27179 27179 27179 27179 240 27221 27221 27208 27221
27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27015 27179 27179
Sx4 2006- 22208 27204 24 27204 2222 27179 27179 27179 27179 27015 27179 27179 27179 27179 27179 277 27221 27221 22208 27221
o A 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Wagon R 1997-1999 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
gon R+ 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27015 27179 27179
Wi 200052005 2720 2720 24 2720 222 27179 27179 27179 27179 27015 27179 27179 27179 27179 27179 24 27221 27221 2720 27221
%90 19961998 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Tesla e TR 24211 24211 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
Model X 2016- 24211 24211 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
- T 24211 24211 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214 24214
24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019 24019
24195
24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Toyota 4Runner 1989-2002 24012 glé‘:’g 24012 24012 24012 24028 24012 24012 24012 24012 25257 24012 28028 24012 24012 24012 24012 24012 24012 24012
. e 24195 2‘1‘} 22 24195 24195 24195 o 24195 24195 24195 24195 24195 24195 o 24195 24195 24195 24195 24195 24195 24195
U 24012 S 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Avensis 1997- 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 T 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
. e o 27179 27179 — 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 27179 24195
Y9 27221 27204 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 27221 24012
GCarr 1996- 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 T 24195 24195 24195 24195 24195 24195 24195
v 24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
24195
' 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
Cellea A 24012 gj‘:’?g 24012 24012 24012 22028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
Gorolla 1987- 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 T 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25057 24012 24012 24012 24012 24012 24012 24012 24012
- TR 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152 24152
24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
Hiace 2004- 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 T 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012

43




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Rona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
Toyota Hilux 1997- 24195 gﬂ gg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
V! 24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Q 20082014 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
9 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195 24195
LEnEEEeT 2004 2158 2158 24012 24012 24012 22028 24012 24012 24012 24012 25257 24012 22028 24012 24012 24012 24012 24012 24012 24012
MR2 1999-2007 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
PARSED 1991-1999 24195 gﬂ gg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Picnic 1996-2001 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Previa 1990- 24195 gﬂ gg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Prius 1997- 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
u 24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
RAV4 1994- 24195 gﬂ gg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Supra 1986-2002 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
up 24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Ve 2009- 24195 gﬂ gg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
Yaris 1998- 24195 gﬂgg 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24028 24195 24195 24195 24195 24195 24195 24195
24012 24012 24012 24012 24012 24012 24012 24012 24012 25257 24012 24012 24012 24012 24012 24012 24012 24012
240, 242, 244
Volvo 245, 260, 264 1970-1993 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193 24193
2&55 2'70 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010 24010
340, 343, 345, 360 1976-1991 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154 24154
’ ’ ’ 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013 24013
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
440, 460, 480 1986-1995 27170 27170 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
740, 750, 760 1984-1992 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
765, 780 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
850 1991-1996 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
l 940, 960 1990-1998 24012 24012 24012 24012 24012 24028 24012 24012 24012 24012 24012 24012 22028 24012 24012 24012 24012 24012 24012 24012

44




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Rona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157
Volvo =2 AU 24012 24012 24012 24012 24012 2D 24012 24012 24012 24012 24012 24012 D 24012 24012 24012 24012 24012 24012 24012
c70 2006-2013 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
sS40 2004-2012 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
S60 2010- 27000 27000 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
S70 1996-2000 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186 27186
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
S80 2006- 27000 27000 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
S90 2016- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
V40 1996- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
V50 2004-2012 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
V60 2010- 27000 27000 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
V70 2000- 27000 27000 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
Vo0 2016- 27000 27000 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
XG-40 2016- 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
XC60 2008- 27000 27000 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
XC70 2000- 27000 27000 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
27222 27222 27222 27222 27222 27222 27222 27222 27222 27205
XC90 2002- 27000 27000 27222 27222 27181 27000 27000 27000 27181 27000 27000 27000 27181 27222 27000 27000 27181 27000 27000 27181
27205 27222 27181 2 27181 27181 27181 27205 27181 27181 27181 27222 28025 27205 27181 27181
vw A A R R 28032 27205 27205 2z g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28032 27205 ez 27205
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
l Beetle 2011~ 25008 28018 2222 2r222 28018 27205 2;;2; 27222 28018 27222 27201 g;ggg 27205 27222 2222 28032 28018 g;g?g 27222 27222

45




OEM FELGEN AFTERMARKT FELGEN
OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Hona_l Tean] Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modele L'année |Jantes d'acier| Jantes Alu Dotz
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
vw Bora 1998-2005 28018 28018 27222 27222 28018 27205 27184 27022 28018 27022 27201 27222 27205 27222 27222 28032 28018 27000 27002 27002
27222 27205 28018
27181 27179
Caddy 1995-2003 28028 28028 27179 27204 27179 27179 Al 27179 27221 27221 27221 27222 27221 27179 Al 27179 27179 27015 27204 27179
27221 28172 27221 27221
27205 28028
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Caddy 2004- 28018 28018 27222 27222 28018 27205 27184 27002 28018 27002 27201 27222 27205 27222 27222 28032 28018 27000 27022 27022
27222 27205 28018
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Corrado 1988-1995 28018 28018 27222 27222 28018 27205 27184 57992 28018 57992 27201 27222 27205 27222 27222 28032 28018 27000 57992 57992
27222 27205 28018
27181 27179
Corrado VR6 1988-1995 28028 28028 27179 27204 27179 27179 Al Al 27221 27221 27221 27222 27221 27179 Al Al 27179 27015 27204 27179
27221 28172 27221 27221
27205 28028
28043 28043
Crafter 2006- 28174 27174
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Eos 2006-2011 28018 28018 27222 27222 28018 27205 27184 27002 28018 27002 27201 27222 27205 27222 27222 28032 28018 27000 27022 27002
27222 27205 28018
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Fox 2005-2011 28018 28018 27222 27222 28018 27205 27184 57992 28018 57992 27201 27222 27205 27222 27222 28032 28018 27000 57922 57992
27222 27205 28018
27181 27179
Golf (I, 11, 11y 1974-1997 28028 28028 27179 27204 27179 27179 Al Al 27221 27221 27221 27222 27221 27179 Al Al 27179 27015 27204 27179
27221 28172 27221 27221
27205 28028
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Golf (Il GTI, 1l VR6) 1974-1997 28018 28018 27222 27222 28018 27205 27184 57992 28018 57992 27201 27222 27205 27222 27222 28032 28018 27000 57922 57992
27222 27205 28018
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Golf (IV, V, VI, VII) 1997- 28018 28018 27222 27222 28018 27205 27184 27022 28018 27002 27201 27222 27205 27222 27222 28032 28018 27000 27002 27022
27222 27205 28018
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Jetta 2005- 28018 28018 27222 27222 28018 27205 27184 57992 28018 57992 27201 27222 27205 27222 27222 28032 28018 27000 57922 57992
27222 27205 28018
27181 27179
Lupo 1998-2005 28028 28028 27179 27204 27179 27179 Al Al 27221 27221 27221 27222 27221 27179 Al Al 27179 27015 27204 27179
27221 28172 27221 27221
27205 28028
27205
. 28032 28032 27205 27222 27181 27181 27181 27181 27205 27181 27181 27181 27222 28025 27205 27181 27181
Multivan T4 1990-2002 28044 28044 28032 27205 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28032 27205 2222 27205
27205 27222 27181 2 27181 27181 27181 27205 27181 27181 27181 27222 28025 27205 27181 27181
R U 0022000 R R 28032 27205 27205 2z g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28032 27205 ez 27205
27205 27222 27181 21203 27181 27181 27181 27205 27181 27181 27181 27222 28025 27205 27181 27181
Multivan T6 2015- L 28044 28032 27205 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28032 27205 2222 27205
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Passat 1996- 28018 28018 27222 27222 28018 27205 27184 27022 28018 27002 27201 27222 27205 27222 27222 28032 28018 27000 27022 27002
27222 27205 28018
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Phaeton 2001-2016 28018 28018 27222 27222 28018 27205 27184 57992 28018 57992 27201 27222 27205 27222 27222 28032 28018 27000 57992 57992
27222 27205 28018
27181 27179
el 1994-2001 28028 28028 27179 27204 27179 27179 Al Al 27221 27221 27221 27222 27221 27179 Al Al 27179 27015 27204 27179
(6n) 27221 28172 27205 27221 27221 28028

46




OEM FELGEN

AFTERMARKT FELGEN

OEM RIMS AFTERMARKET RIMS
EQUIPMENT D'ORIGINE JANTES AFTERMARKET
Hersteller Fahrzeugtyp Baujahr Serie Stahl Serie Alu (=2
Manufacturer Model Year Steel wheel OE Alloy Dezent Aluett Alutec Antera 3l ATS BBS Borbet Brock OX|g|n_ Fondmetal Magm_a Moma 0z Rial Rona_l Tean, Tomason
. A B . = Enzo Alurad RC Carmani Kronprinz XTRA Msw Speedline | Dynamics
Fabricant Modéle L'année |Jantes d'acier| Jantes Alu Dotz
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
vw Polo 2002- 28018 28018 27222 27222 28018 27205 27184 27022 28018 27022 27201 27222 27205 27222 27222 28032 28018 27000 27022 27002
27222 27205 28018
27205 27181 27181
. 27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Scirocco 2008- 28018 28018 27222 27222 28018 27205 27184 57099 28018 57999 27201 27222 27205 27222 27222 28032 28018 27000 57099 57099
27222 27205 28018
27205
27205 27222 27181 27181 27181 27181 27205 27181 27181 27181 27222 28025 27205 27181 27181
Sharan 1995- 280 28044 28032 27205 27205 27205 g;;gg 27222 28018 27222 27000 27222 27205 27205 27181 27183 28032 27205 2z 27205
Taro 1989-1997 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24157 24028 24157 24157 24157 24157 24157 24157 24157
24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012 24012
27205 27181 27181
. 27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Tiguan 2007- 28018 28018 27222 27222 28018 27205 27184 27022 28018 27022 27201 27222 27205 27222 27222 28032 28018 27000 27002 27002
27222 27205 28018
27205
27205 27222 27181 27181 27181 27181 27205 27181 27181 27181 27222 28025 27205 27181 27181
EIETEY) Al A A 28032 | 27205 | 27205 | 27295 g;;gg 27222 | 28018 | 27222 | 27000 | 27222 | 27205 | 27205 | 27181 27183 | 28032 | 27205 | 27?2 | 27205
27205 27181 27181
27181 27181 27181 27181 27222 27181 27222 27181 27181 27181
Touran 2003- 28018 28018 27222 27222 28018 27205 27184 27002 28018 27002 27201 27222 27205 27222 27222 28032 28018 27000 27002 27022
27222 27205 28018
27181 27179
uP 2011- 28028 28028 27179 27204 27179 27179 Ul 24 27221 27221 27221 27222 27221 27179 AT AT 27179 27015 27204 27179
27221 28172 27205 27221 27221 28028

47




~N D
ENGLISH e 1 CUSTOMER SERVICE - REPLACEMENT KEY

)

HOW TO ORDER A REPLACEMENT KEY

Ordering from our web shop
Order now quickly and easily online at our web shop — https://shop.mcgard.de

For end consumers, no prior registration is necessary. As a dealer you can create an account,
to order at every time quickly and easily online. The details you enter in the order form will be
transferred automatically in our database.

Ordering by fax

Fax No. +49 7133 90 19-32

If you are a dealer and you want to order by fax, we need your complete address and the 17 digit code number, which you will find on the code card.
Ordering by email

If you want to order by email, please send it to cs@mcgard.de. If you are a dealer, we need the complete address and the key code number. End
consumer should also state the payment method.

DEFECTIVE KEYS

These are replaced free of charge:

a.) When they are returned postage paid and received by McGard. Send only the defective key, not the complete set. Send the key to:
McGard Deutschland GmbH, Nordstr. 12, D-74226 Nordheim, Germany
b.) Upon Inspection, if the key is found to be defective, according to the general terms and conditions of McGard GmbH, it will be replaced.

IMPORTANT: If you can no longer find your key and also the code card for your McGard wheel locks, please inform us about the name you registered under. If you
have not yet registered, please send an e-mail to cs@mcgard.de or contact us on our customer service hotline:
00800 25 99 34 00 (free phone for D, F, GB, |, E, NL, S, P, PL)

48




INSTALLATION INSTRUCTIONS

1. Remove one original wheel nut/wheel bolt from each wheel on your vehicle. During a subsequent wheel change, always remove the wheel lock as
the first nut/bolt and fit as the last nut/bolt.

“LAST IN, FIRST oUT”

(1] Tube} You You([I)

49



INSTALLATION INSTRUCTIONS

IMPORTANT:
Before fitting the wheel lock, please always check that the thread, seating and shaft length/overall length of the original nut/bolt coincide with the
McGard wheel lock!

2. Fit a McGard wheel lock on each wheel by hand. Ensure that the coding of your key is inserted precisely in the coding provided in the McGard wheel
lock.

3. Subsequently tighten each McGard wheel lock using the key provided and a torque wrench to the torque indicated in your vehicle manual, press
the torque wrench in axial direction to guarantee the correct engagement and in order to avoid slipping of the provided key. Spin the wheel by
hand to check it rotates freely and no interference has been created.

IMPORTANT:

Do not use an impact wrench, since this may damage the McGard wheel lock/key, in addition to parts on the vehicle. Please check the McGard
wheel lock again for proper seating after the first 50 km and tighten again if required with a torque wrench. In order to have your key on hand in the
event of a wheel change, we recommend that you keep your key, the original nuts/bolts of your vehicle and these installation instructions (with
your personal code number) in the reusable packaging in a safe place in your vehicle.

LUG NUTS & WHEEL LOCK NUTS

Note: When installing lug nuts and wheel lock nuts, verify that they are the correct thread size, seating surface type (cone seat, radius seat, shank) and
style as recommended by the wheel manufacturer. Minimum thread engagement must be equal to the thread diameter of the wheel stud. Example:
M12x1.5 nut requires a minimum of 12mm of thread engagement.

LUG BOLTS & WHEEL LOCK BOLTS

Note: When installing lug bolts and wheel lock bolts, verify that it is the correct thread size, seating surface (cone seat, radius seat) and style as
recommended by the wheel manufacturer. Minimum thread engagement into hub assembly must be 5 % complete 360° revolutions of bolt (5 % full
bolt rotations).

50




DEUTSCH . KUNDENSERVICE - ERSATZSCHLUSSEL

WIE BESTELLE ICH EINEN ERSATZSCHLUSSEL

Bestellung iiber unseren Onlineshop:
Bestellen Sie schnell und einfach online in unserem Webshop unter https://shop.mcgard.de/

Als Privatperson ist eine vorherige Registrierung nicht nétig. Als Handler kdnnen Sie ein Benutzerkonto
einrichten, um Ersatzschlissel jederzeit schnell und bequem zu bestellen. Ihre Formulareintrage
werden automatisch in unsere Datenbank aufgenommen.

Bestellung per Fax:
Unsere Fax-Nr. lautet +49 7133 90 19-32

Wenn Sie als Handler bestellen méchten, bendtigen wir Ihre vollstandige Anschrift und die 17-stellige Schlisselnummer die sich auf der Codekarte
befindet.

Bestellung per E-Mail:

Sie kdnnen uns lhre Bestellung fiir Ersatzschlissel per E-Mail an cs@mcgard.de schicken. Wenn Sie als Handler bestellen méchten, benétigen wir lhre
vollstandige Anschrift und den Schliisselcode. Als Privatperson benétigen wir zusatzlich noch die Zahlungsart.

DEFEKTE SCHLUSSEL
werden ersetzt,

a.) wenn sie ausreichend frankiert an McGard zuriickgeschickt werden. Der defekte Schliissel muss bei McGard vorliegen, bevor Ersatz geliefert
werden kann. Schicken Sie nur den reklamierten Schlissel, nicht den kompletten Satz, zusammen mit lhrer kompletten Adresse und lhrem
Schliisselcode. Schicken Sie den Schliissel bitte an: McGard Deutschland GmbH, Nordstr. 12, D-74226 Nordheim

b.) wenn sich der defekte Schliissel nach einer technischen Uberpriifung als fehlerhaft erweist, werden Sie gemiR der

Gewahrleistungsbedingungen kostenfrei ersetzt.

WICHTIG: Sollten Sie lhren Schlissel mitsamt der Codekarte lhrer McGard Radsicherung nicht mehr finden, teilen Sie uns bitte mit, unter welchem Namen Sie sich
registriert haben. Sollten Sie sich bisher noch nicht registriert haben, schreiben Sie eine E-Mail an cs@mcgard.de oder kontaktieren Sie uns bitte tGber die kostenlose
Service Hotline: 00800 25 99 34 00 (gebuihrenfrei fiir D, F, GB, |, E, NL, S, P, PL)

51




MONTAGEANLEITUNG

1. Entfernen Sie eine original Radmutter/Radschraube von jedem Rad lhres Fahrzeuges. Bei einem spateren Radwechsel die Radsicherung immer als
erste Mutter/Schraube |6sen und als letzte Mutter/Schraube montieren.

“LAST IN, FIRST OUT”

You () You =8 You(lD)

52



MONTAGEANLEITUNG

WICHTIG:
Vor Montage der Radsicherung bitte immer Gewinde, Sitz und Schaft-/ Gesamtldnge der/des original Mutter/Bolzens mit der McGard Radsicherung
auf Ubereinstimmung priifen!

2. Montieren Sie an jedem Rad von Hand eine McGard Radsicherung. Achten Sie darauf, dass die Codierung lhres Schllssels genau in die dafir
vorgesehene Codierung der McGard Radsicherungen einrastet.

3. Ziehen Sie danach jede McGard Radsicherung mit Hilfe des mitgelieferten Schliissels und eines Drehmomentschliissels bis zu dem in lhrem
Fahrzeughandbuch angegebenen Drehmoment fest, indem Sie axialen Druck auf den Drehmomentschliissel ausiiben um ein Abrutschen oder
Verkanten des mitgelieferten Schlissels zu vermeiden. Drehen Sie das Rad von Hand, um zu priifen, ob es frei dreht und keine Beeintrachtigung
entstanden ist.

HINWEIS:

Verwenden Sie keinen Schlagschrauber, da dieser die/den McGard Radsicherung/Schliissel sowie Teile des Fahrzeugs beschidigen kann. Bitte nach
den ersten 50 km Fahrt die McGard Radsicherung nochmals auf ihren Sitz priifen und gegebenenfalls nochmals mit einem Drehmomentschliissel
fest ziehen. Um fiir einen Radwechsel lhren Schliissel zur Verfiigung zu haben, empfehlen wir lhnen lhren Schliissel, die original Muttern/Bolzen
lhres Fahrzeugs, sowie diese Montageanleitung (mit lhrer persénlichen Codenummer) in der wiederverschlieBbaren Verpackung an einem sicheren
Ort in lhrem Fahrzeug aufzubewahren.

RADMUTTERN & RADSICHERUNGSMUTTERN WICHTIG: Stellen Sie vor der Montage von McGard Radmuttern und Radsicherungsmuttern sicher, dass
diese beziiglich Gewinde, Sitz (Kegel, Kugel, Flach) und Gesamtlange der Originalmutter bzw. der vom Felgenhersteller empfohlenen Abmessungen,
entsprechen. Die minimale Einschraubldange muss mindestens gleich dem Durchmesser des Stehbolzens sein. Beispiel: M12x1.5 Muttern bendtigen eine
minimale Einschraubldange von 12mm.

RADBOLZEN & RADSICHERUNGSBOLZEN WICHTIG: Stellen Sie vor der Montage von McGard Radbolzen und Radsicherungsbolzen sicher, dass diese
beziiglich Gewinde, Sitz (Kegel, Kugel, Flach) und Schaftlange dem Originalradbolzen bzw. der vom Felgenhersteller empfohlenen Abmessungen,
entsprechen. Die minimale Einschraublange des Radbolzens/Radsicherungsbolzens in die Radnabe muss 5 % komplette 360° Umdrehungen betragen.

53




FRANCAIS ‘ ' SERVICE CLIENTELE — CLE DE REMPLACEMENT

COMMENT COMMANDER UNE CLE DE REMPLACEMENT

Passer une commande a travers de notre site Internet:

Commandez vos clés rapidement et aisément a travers de notre boutique en ligne https://shop.mcgard.de.

.

Si vous &tes particulier, un enregistrement préalable n’est pas nécessaire. Si vous &tes commercant, vous pouvez créer un compte utilisateur pour
commander des clé de remplacement rapidement. Vos données seront automatiquement ajouter a notre base de données.

Passer une commande par fax:

Notre numéro de fax est le +49 7133 90 19-32

Si vous étes commercgant, il nous faut votre adresse compléte ainsi que le code de clé a 17 chiffres qui vous pouvez trouver sur la carte de code.
Passer une commande par e-mail:

Vous pouvez nous envoyer votre commande de clé de remplacement aussi par e-mail a I'adresse cs@mcgard.de. Si vous étes commercant, il nous faut
votre adresse complete ainsi que le code de clé a 17 chiffres que vous pouvez trouver sur la carte de code. Si vous étes particulier, il nous faut aussi un
mode de paiement.

LES CLES DEFECTUEUSES

sont remplacées gratuitement :
a.) En cas de réclamation, envoyez-nous uniquement la clé faisant I'objet de la réclamation, et non pas le jeu complet en port payé a McGard a I'adresse suivante :
McGard Deutschland GmbH, Nordstralle 12, D-74226 Nordheim

b.) Lors de l'inspection, si la clé se trouve étre défectueuse, selon les conditions générales de McGard GmbH, elle sera remplacée.

Important: Si vous ne trouvez plus votre clé et la carte de code pour vos dispositifs antivol McGard, veuillez nous communiquer le nom sous lequel vous étes
enregistré. Si vous n’étes pas enregistré, veuillez nous contacter par mail cs@mcgard.de ou par notre service hotline: 00800 25 99 34 00 (numéro vert gratuit pour
D,F,GB, | E NLS,P,PL)

54




NOTICE DE MONTAGE

1. Retirez un écrou ou une vis de roue d’origine sur chaque roue de votre véhicule. En cas de changement de roue ultérieur, dévissez
systématiquement le systéme antivol de roues en premier avant les autres vis/écrous et remontez-le systématiquement en dernier.

“LAST IN, FIRST OUT”

You () You =8 You(lD)

55



NOTICE DE MONTAGE

IMPORTANT:
Avant de monter le systeme antivol de roues, vérifiez systématiquement que le filetage, le logement, la longueur de la tige et la longueur totale de
I’écrou et du boulon d’origine correspondent avec le systéme antivol de roues McGard.

2. Montez manuellement un antivol McGard par roue. S’assurer que le codage de la clé (male) corresponde bien au codage (femelle) de I’écrou ou de
la vis antivol.

3. Serrez ensuite chaque systéme antivol de roues McGard a I'aide de la clé fournie et d’'une clé dynamométrique jusqu’a atteindre le moment du
couple indiqué dans le manuel du véhicule, en exercant une pression axiale sur la clé dynamométrique afin d’éviter un glissement ou un
coincement de la clé fournie. Tournez la roue a la main, afin de controler qu’elle tourne librement et qu’il n’y a rien qui géne.

INDICATION:

Ne pas utiliser de tournevis a frapper, celui-ci pouvant endommager le systeme antivol et la clé McGard, ainsi que les pieéces du véhicule. Apreés avoir
parcouru une distance de 50 km, vérifiez a nouveau le positionnement correct du systeme antivol de roues McGard et, le cas échéant, resserrez le
systeme a l’aide d’une clé dynamométrique. Afin de disposer de votre clé dans le cas d’un nouveau changement de roue, nous vous recommandons
de conserver votre clé, les écrous et les boulons d’origine de votre véhicule, ainsi que cette notice de montage (avec votre numéro de code
personnel) dans I’emballage réutilisable en lieu siir a I'intérieur de votre véhicule.

Ecrous & Ecrous antivol de roue

Remarque: Lors de l'installation d'écrous et d’écrous antivol de roue, vérifier qu'ils ont la taille correcte du filetage, le type de siége (conique, ou
sphérigue, ou plat) et le style comme recommandé par le fabricant de la roue.

Ainsi 'engagement minimum du filetage doit étre au moins égal au diametre du filetage du goujon de roue. Exemple: M12x1.5 écrou nécessite un
minimum de 12 mm d'engagement du filetage.

Boulons & Boulons antivol de roue

Remarque: Lors d’installation de boulons et de boulons antivol de roue, vérifier qu’ils ont la taille correcte du filetage, le type de siége (conique, ou
sphérique, ou plat) et le style comme recommandé par le fabricant de la roue.

Ainsi I’engagement minimum du filetage dans I'assemblage de moyeu doit étre de 5 % tours du boulon (5 % rotations pleines du boulon).

56




NOTIZEN / NOTES / NOTICES

57



NOTIZEN / NOTES / NOTICES

58



NOTIZEN / NOTES / NOTICES

59



: MeGanl ®

McGard Deutschland GmbH
Nordstrale 12D - 74226 Nordheim

++4+ Service Hotline: 00 800-25 99 34 00 +++

free of charge for/gebihrenfrei aus/en franchise:
DE, GB, FR, ES, NL, IT, SE, PT, PL

for all other countries/ fiir alle anderen Lander/pour tous les autres pays:

Phone +49 (0)7133 - 90 19 0 » Fax +49 (0)7133 - 90 19 32

E-mail: info@mcgard.de
www.mcgard.de

The details and pictures in this catalogue are without obligation and represent our knowledge at the time of printing. The products listed in this catalogue are subject to change until the time of purchase. ,McGard“ and , Tough Nuts“ are
registered trademarks of McGard. All other brand or product names are trademarks or registered trademarks of the respective holders.

Disclaimer: McGard reserves the right to make changes or improvements on any item without incurring any obligation, and to discontinue or change styles or specifications at any time without notice.

© 01/2017 McGard. All rights reserved. Printed in Germany. McGard products are manufactured in Germany and/or the U.S.A. This catalogue is recyclable. Form number 095025 A

Die Angaben und Abbildungen in diesem Prospekt sind unverbindlich und entsprechen den zum Zeitpunkt der Drucklegung vorhandenen Kenntnissen. Sie kdnnen sich bis zum Kauf der in diesem Prospekt aufgefiihrten Produkte &ndern.
»McGard“ und ,, Tough Nuts“ sind eingetragene Warenzeichen der Firma McGard. Alle anderen Marken oder Produktnamen sind Warenzeichen oder eingetragene Warenzeichen der jeweiligen Inhaber.

Erklarung: McGard behélt sich das Recht vor, ohne vorherige Mitteilung und ohne irgendeine Verpflichtung einzugehen, die in diesem Prospekt aufgefiihrten Produkte zu verédndern oder zu verbessern und Typen oder Spezifikationen zu
andern oder ganz aus dem Sortiment zu nehmen.

© 01/2017 McGard. Alle Rechte vorbehalten. Gedruckt in Deutschland. McGard Produkte werden in Deutschland und/oder den U.S.A. gefertigt. Dieser Prospekt ist recyclebar. Prospekt Nummer 095025 A

Les données et photos reproduites dans ce prospectus sont sans engagement de notre part et correspondent aux connaissances a notre disposition au moment de la mise en page. Elles peuvent avoir changé avant I‘achat des produits
présentés dans ce prospectus. ,McGard“ et ,, Tough Nuts“ sont des noms de marques déposées de la Société McGard. Tout autre marque ou nom de produit sont des sigles de marques ou des noms de marques déposés des différents
propriétaires.

Déclaration: McGard se réserve le droit de modifier ou améliorer les produits présentés dans ce prospectus, de procéder a un changement de type ou de spécification ou méme de retirer les produits de son assortiment, sans préavis ni
autre engagement de sa part.

© 01/2017 McGard. Tout droit réservé. Imprimé en Allemagne. Les produits McGard sont fabriqués en Allemagne et/ou aux U.S.A. Ce prospectus est fait en papier recyclable. Prospectus n° 095025 A



